Go To Table Of Contents

Examination Table
Model Numbers: SeI‘VICG and
904 001 hru 007 Parts Manual

204 -011 thru -014
604 -001 thru -006

111111111

604 shown

FOR USE BY MIDMARK TRAINED TECHNICIANS ONLY
SF-1864 Part No. 004-0483-00 Rev. GB1  (9/4/19)

Style B



iz

c
®)
1=
©
S
S
O
(T4
=
©
S
Q
c
()
O]

Section A

0
c
9
O
O
N

GENERAL INFORMATION

Symbols ... iii
Ordering Parts ......cccccceecmeriinnnes il
Serial Number Location .......... ili
Specifications..........cccccecmeennnnne iv

Model Identification /
Compliance Charts:

TROUBLESHOOTING

Back Section Positioning........ A-2
Table Receptacle System ........ A-5
Drawer Heater System ............ A-7
Upholstery Heater System ...... A-

TESTING & REPAIR

Back Release Mechanism ....... B-2
Gas Cylinder Adjustment ................... B-2
Gas Cylinder Replacement................ B-3

Table Receptacle System ........ B-4
Circuit Breakers...........ccccveveeecveennn.. B-4
Supply Voltage Test ........ccccccveeeeenennn. B-5

Drawer Heater System ............ B-6

B-6
B-7
B-8
B-9

Distribution Board Fuses ................... -
Supply Voltage Test:

c
o)
(&}

|
m
C
9
i}
&)
O
(0p)

Section C

o
c
9O
O
o
w

Section E

TESTING & REPAIR - continued
Upholstery Heater System .. B-14

Output Voltage Test ..........ccccveeeeenn. B-14

Supply Voltage Test .........c.cceven. B-15

Uph. Heater Resistance Test ........... B-16

Uph. PC Board Replacement.......... B-17

Heater Switch Replacement ........... B-18
Stirrup Replacement............ B-20
Footrest Extension

Replacement .........ccccceueee B-21
Foot Step Replacement....... B-22

ACCESS PROCEDURES

Removing & Installing:

Upholstery:
204 (RIHEI) ..o C-2
604 (MIdmark) ..........cccceceeeeeeerennn. C-3
Stirrup Guide.........ccccvvemennnnns C-4
Drawers .......ccoeeeeeeerrnccnnsnernnnnns C-5
WIRING DIAGRAMS
204:
(-0071 & 003, -011) weveeeeeeeeeeereea D-2
(-002 & 004, -012) ..o D-3
(-006, -014) ..o, D-6
(-007) e D-7
604:
(-0071) oo D-2
(-002) .o D-4
(-003) .o D-5
(-005) .o D-6
(00 ) D-8

EXPLODED VIEWS / PARTS LISTS

204:
(-001/-002/-005 thru -007) .............. E-2
(-011thru -0714) oo E-2
(-0083/-004) ..o E-3
604 (All) ... E-4

==



Go To Table Of Contents

Symbols Ordering Parts
é Caution ) The following information is required when ordering parts:
A Indicates a potentially hazardous situation e Serial number & model number
Y which could result in injury if not avoided. ) * Part number for desired part.
- - N [Refer to Exploded Views / Parts Lists section]
Equipment Alert
® Indicates a potentially hazardous situation Non-warranty part orders may be faxed to Midmark using
S which could result in equipment damage if not avoided. ) the Fax Order Form in the back of this manual.
4 N\
Note For warranty part orders, call Midmark's Technical Service
(_ Amplifies a procedure, practice, or condition. ) Department with the required information.
Hours: 8:00 am until 5:00 pm EST [Monday - Friday]
s - - — ~N Phone: 1-(800)-Midmark
In Section A, test the components in the order indicated.
(ex. 1st v then, 2nd v")
L Refer to Section B for component testing procedures.

Model / Serial Number Location
These symbols are used throughout this manual to represent the
operational status of table functions and components.

-
Indicates the function / component is working properly.
No action required.

N 4 Serial / Model \

4 )

N\ Indicates the function / component is working, Number \
<|%> but a problem exists.
Y J
-

Indicates the function / component is not working at all.

-
\ J

MA10616p

© Midmark Corporation 2005 SF-1864 Rev. 2/6/18



Go To Table Of Contents -

eneral Information
Side Drawer Side Drawer

Specifications 19.7 in. (50 cm) )\ /< 22 in. (55.8 cm)
Foot-End Drawer

Foot-End Drawer :
. . ight: 20.8 in. (52.8 cm) 18in. (45.7 cm)
Maximum Patient Weight: ........ccccvvrnvnrennenne 500 Ibs (226 kg)

Electrical Supply Requirements: .........ccccceceun.. [See Model Identification Chart]

Paper Roll (maximum Size): .......cccceecerrrrsveceenns 21 in. wide x 3.5 in. diameter

(58 cm x 9 cm)
Depth (all,

Range of Motion & 4.25 in. (10.8 cm)

DIMENSIONS ....corveececerreercece e ssce e (See illustrations)
Weight of Table: ........ccccoriimeminnmnisennisesninsesnnnas 220 Ibs (99.8 kg)
w/packaging & sKid .........cccceieiiiiiiinnie 273 Ibs (123.8 kg)
Receptacle Power Cord: .........cccuemrverisenrcansnnnnns 6 ft. (1.8 m) long
Drawer / Uph. Heater Power Cord: .........c.cu.un. 6 ft. (1.8 m) long
Max.
70° £5°

Max.
70 i20
20.5in.
[— —
(52 cm) T

T\ T Min.
[ ] [T] Min. R 0°
S L
30.2 in.
) =
[@ (
9in.
\ (23 cm)
B L -
- 180N ﬁ 16.5in. 46.4 in. 6 ft.
(45.7 cm) (42 cm) (117.8 cm) ' (1.8 m)

MA707404i

© Midmark Corporation 2005 SF-1864 Rev. 6/10



iz

Model Identification Chart - 204

Fire Code Ratings

All standard upholstery sets comply with: California Bureau of Home Furnishing Technical Bulletin 117
Optional upholstery sets are available that comply with:California Bureau of Home Furnishing Technical Bulletin 133.

Go To Table Of Contents

Electrical Supply
Requirements:
Model Description
VAC AMDS Cycles
+-10% | 2MP (Hz)
Ritter Exam Table
;gfg?: (Pass-thru Drawers) 115 5 50/ 60
) w/ Receptacle
Ritter Exam Table
;8: g?: (Pass-thru Drawers) 115 55 | 50/60
- w/ Receptacle, Pelvic Tilt, & Drawer Heater
Ritter Exam Table
204-003 | (Bulk Storage) 115 5 50/60
w/ Receptacle
Ritter Exam Table
204-004 | (Bulk Storage) 115 5.5 50/ 60
w/ Receptacle, Pelvic Tilt, & Drawer Heater
} Ritter Exam Table - Export
;g: g?g (Pass-thru Drawers) - - -
) w/ Pelvic Tilt
N Ritter Exam Table- - Export
e ore | (Passthru Drawers) 230 | 5 | 50/60
w/ Receptacle, & Pelvic Tilt
Ritter Exam Table- - Export
204-007 | (Pass-thru Drawers) 230 55 | 50/60
w/ Receptacle, Pelvic Tilt, & Drawer Heater

Regulatory compliance information is available by calling 1-800-643-6275 or 1-937-526-3662.

General Information

© Midmark Corporation 2005 SF-1864

Rev. 8/28/17

Next

\'J



eneral Information

Model Identification Chart - 604

Fire Code Ratings

All standard upholstery sets comply with: California Bureau of Home Furnishing Technical Bulletin 117
Optional upholstery sets are available that comply with:California Bureau of Home Furnishing Technical Bulletin 133.

Go To Table Of Contents

Electrical Supply
Requirements:
Model Description
VAC AMDS Cycles
+-10% P (Hz)

Midmark Exam Table

604-001 w/ Receptacle 115 5 50/ 60
Midmark Exam Table

604-002 w/ Receptacle, Pelvic Tilt, & Drawer Heater 115 5.5 50/60
Midmark Exam Table

604-003 | w/ Receptacle, Pelvic Tilt, Drawer Heater, & 115 6.5 | 50/60
Heated Upholstery
Midmark Exam Table - Export

604-004 1, pewvic Tilt - - -
Midmark Exam Table - Export

604-005 |, Receptacle, & Pelvic Tilt 230 5 50/60
Midmark Exam Table - Export

604-006 w/ Receptacle, Pelvic Tilt, & Drawer Heater 230 5.5 50/60

Regulatory compliance information is available by calling 1-800-643-6275 or 1-937-526-3662.

© Midmark Corporation 2005 SF-1864 Rev. 7/9/12

==



- Go To Table Of Contents -

General Information

vii

© Midmark Corporation 2005 SF-1864



- Go To Table Of Contents -

This page intentionally left blank.



Troubleshooting ——

Back Section Positioning
Table Receptacle
Drawer Heater
Upholstery Heater

Click on the Go To Page button and enter the
desired page number.

(Note: Letters are case sensitve ex. A-2, not a-2)

A-1



o | -
ubleshooting

Back Section Positioning

Back Section Positioning Problem
Back drifts up or down .............ccceeeeee. A-3
Back locked in place..........ccccooeievneeee.
Difficult to position ...........ccccceeviiiiieeenn.

Back Section Release Mechanism

When either back release handle is squeezed, linkage rotates the cam.
The rotating cam pushes the plunger down, compressing the cylinder pin.
When the cylinder pin is compressed, the pressure inside the cylinder is
released, allowing the back section to be repositioned.

When the back handle is released, the cam and plunger return to their
normal position. This removes pressure from the cylinder pin allowing the

cylinder to pressurize and lock the back section in place. Back Release Handle

Cylinder Pin

MABI8100i

All

Back Section [ Models:
All

Positioning Serial Numbers:

A-2

© Midmark Corporation 2005 SF-1864



Troubleshoot

Problem: Back section drifts up or down. Refer To: Go To Page:
Gas Cylinder Replacement

Back Section Positioning - continued

Note
Newer units may have two jam nuts.

1st\/

Gas cylinder screwed in too far.
A. Loosen jam nut(s).

B. Unscrew cylinder slightly.

C. Tighten jam nut(s), then test.

Refer to: Section B - Back Release Mechanism

[Replace gas cylinder. znd‘/

Jam Nut

[ Models:

Serial Numbers:

All Back Section
All Positioning

© Midmark Corporation 2005 SF-1864  Rev.8/11




o | -
ubleshooting

Refer To: Go To Page: Problem: Back section is "locked" in place. -or-
Gas Cylinder Replacement Back section is difficult to position.

Back Section Positioning - continued

Note
Newer units may have two jam nuts.

Gas cylinder is not screwed in far enough. 1St‘/
A. Loosen jam nut(s).

B. Screw cylinder in slightly.

C. Tighten jam nut(s), then test.

Refer to: Section B - Back Release Mechanism

[Replace gas cylinder. znd‘/

/ Jam Nut

All
All

Positioning Serial Numbers:

A-4

Back Section [ Models:

© Midmark Corporation 2005 SF-1864 Rev.8/11



- Go To Table Of Contents

Table Receptacle System - optional
Table Receptacle System

Table Receptacle Operation Problem Go To Page:
With the receptacle power cord properly connected,
line voltage (115 VAC) is supplied directly to the two N oy E T REEEEe

receptacle circuit breakers.

115 VAC flows thru the two circuit breakers to the receptacle.

If the receptacle's maximum load is exceeded, the circuit breakers
interrupt power to the receptacle.

Maximum Load (both outlets combined)........... 115 VAC, 5 amps

Circuit Breakers

MAG698300i

204 (-001 thru -004, -011, -012) 604 (-001 thru -003) Table Receptacle
All All System

Serial Numbers:

[ Models:

A-5

© Midmark Corporation 2005 SF-1864



o | -
ubleshooting

Table Receptacle System - continued

. Problem: N wer at r tacle.
Refer To: Go To Page: oble o power at recep

Receptacle Supply Voltage Test
Wiring Diagrams

1st\/

[Are circuit breakers tripped? ‘/
Push toggle switches inward to reset. . . . 2nd
< Loose / disconnected wire connections.
Check the following connections:

e Receptacle power cord to supply source
* Receptacle power cord to circuit breakers
e Circuit breakers to receptacle

Circuit Breakers

Tripped
(no power to outlet)

Reset
(power to outlet)

Perform Receptacle Supply Voltage Test
Refer to: Section B - Table Receptacle System

MAB98500i

Table Receptacle Models:
System Serial Numbers:

204 (-001 thru -004, -011,-012) | 604 (-001 thru -003)
All All

A-6

© Midmark Corporation 2005 SF-1864



- Go To Table Of Contents

Troubleshoot

Drawer Heater System - optional
Drawer Heater System

Problem _Go To Page:

H o Heater does not warm up:
Drawer Heater Operation ; , .

- witch does not illuminate
With the heater system's power cord properly connected, SIAEIEL
115 VAC is supplied to the drawer heater switch thru two
fuses on the distribution board.

Switch illuminates

Heater works properly, but...
Switch does not illuminate

When pressed ON, the switch illuminates and current flows to the heater
plate. When the heater plate is energized, it warms the contents of the
drawer to approximately 98° F (37° C).

[Midmark model shown has green switch for optional upholstery heater]

Distribution Board
(two fuses)

Drawer Heater Switch - white
(Midmark models)

Heater Plate

Drawer Heater Switch
(Ritter models)

MAB99000Qi

Models: | 204 (-002 & -004,-012) 604 (-002 & -003) Drawer Heater
Serial Numbers: All All System A'7

© Midmark Corporation 2005 SF-1864



o | -
ubleshooting

Drawer Heater System - continued

Problem: Drawer heater does not warm up - and
Refer To: g€ Drawer heater switch does not illuminate.

Supply Voltage Test:

204 (Ritter)
604 (Midmark)
Wiring Diagrams

[Midmark model shown has green switch for optional upholstery heater]

1st\/

Check fuses on distribution board
If either fuse is blown, replace both fuses.

Distribution Board
(two fuses)

Drawer Heater Switch - white
(Midmark models)

3rd
Perform Supply Voltage Test ‘/
Refer to: Section B - Drawer Heater System

Drawer Heater Switch
(Ritter models)

2nd/ - MABI9100i

Loose / disconnected wire connections.
Check the following connections:
e Heater system power cord to supply source
e Heater system power cord to distribution board
e Distribution board to heater switch

Drawer Heater Models:
System Serial Numbers:

204 (-002 & -004, -012) 604 (-002 & -003)
All All

A-8

© Midmark Corporation 2005 SF-1864



Go To Table Of Contents

Drawer Heater System - continued

Problem: Drawer heater does not warm up - but
Drawer heater switch does illuminate,

Refer To:

Heater Plate Test:
204 (Ritter)
604 (Midmark)
Wiring Diagrams

Drawer Heater Switch - white
(Midmark models)

1st\/

Loose / disconnected wire connections.
Check the following connections:
e Heater switch to heater plate

Heater Plate

Drawer Heater Switch
(Ritter models)

MABI9200i

2nd
Perform Heater Plate Test ‘/
Refer to: Section B - Drawer Heater System

Models: | 204 (-002 & -004, -012) 604 (-002 & -003) Drawer Heater
Serial Numbers: All All System A-g

© Midmark Corporation 2005 SF-1864



o | -
ubleshooting

Drawer Heater System - continued

Problem: Drawer heater warms up - but
. Go To Page:
Refer To: Drawer heater switch does not illuminate.

Heater Switch Replacement:
204 (Ritter)

604 (Midmark)
Wiring Diagrams

[Midmark model shown has green switch for optional upholstery heater]

Drawer Heater Switch - white
(Midmark models)

. 1st
Replace drawer heater switch ‘/
Refer to: Section B - Drawer Heater System

Drawer Heater Switch
(Ritter models)

MAB99200i

Drawer Heater Models:
System Serial Numbers:

© Midmark Corporation 2005 SF-1864

204 (-002 & -004, -012) 604 (-002 & -003)
All All

A-10




- Go To Table Of Contents

Upholstery Heater System - optional

Upholstery Heater Operation

With the heater system's power cord properly connected,
115 VAC is supplied to the upholstery heater PC board
thru the distribution board.

4 Note )

Current does not flow thru the two fuses on the distribution
board. The distribution board is merely a connection point
for the upholstery heater system.

The two fuses (F1 & F2) on the uph. heater PC board

\protect this system from excessive current. Y

Circuitry on the upholstery heater PC board reduces the
line voltage, and supplies approximately 12 VAC to the
upholstery heater switch.

When the upholstery heater switch is pressed ON, the
switch illuminates and 12 VAC is supplied to the two
upholstery heating elements. When the heating elements
are energized, they warm the back & seat sections of the
upholstered top. Pressing the heater button again, turns
the heater system OFF.

Note
The upholstery temperature can be adjusted.
Refer to Section B: Upholstery Heater System.

A timer on the upholstery heater PC board automatically
turns the heater OFF after 8 hours. The timer is initiated
when the upholstery heater switch is pressed ON.

Upholstery Heater System

Problem Go To Page:

Switch does not illuminate, and...
Heater does not work
Heater does work

Switch does illuminate, but...
Heater does not work

Switch & heater both work, but...
shut off prematurely

Temperature Adjustment
Knob

Upholstery Heater
PC Board
(two fuses)

Distribution
Board

MA701300i

Upholstery Heater Switch - green

604 (-003)

Serial Numbers: All

[ Models:

Upholstery Heater
System A_1 1

© Midmark Corporation 2005 SF-1864



m . Go To Table Of Contents
ubleshootin 9 Upholstery Heater System - continued

: Problem: Uph. heater switch does not illuminate - and
Refer To: Upholstery heater does not work.

Supply Voltage Test
Wiring Diagrams

1st\/

Check fuses on upholstery heater PC board.
If either fuse is blown, replace both fuses.

Upholstery Heater

PC B q : . 2nd
fotoard Loose / disconnected wire connections. \ v

Check the following connections:
e Heater system power cord to supply source
e Heater system power cord to distribution board
e Distribution board to uph. PC board
e Uph. PC board to uph. heater switch

Distribution
Board

srdy’

Perform Supply Voltage Test
Refer to: Section B - Upholstery Heater System

MA701400i

604 (-003)

Upholstery Heater [ Models:
All

A_1 2 System Serial Numbers:

© Midmark Corporation 2005 SF-1864




Go To Table Of Contents

Upholstery Heater System - continued

Problem: Uph. heater switch does not illuminate - but
Upholstery heater does work. Refer To: e

Uph. Heater Switch Replacement
Wiring Diagrams

1st\/

Replace upholstery heater switch.
Refer to: Section B - Upholstery Heater System

MA701500i

Serial Numbers:

[ Models:

604 (-003) Upholstery Heater
All System A_1 3

© Midmark Corporation 2005 SF-1864




m . Go To Table Of Contents
ubleshootin 9 Upholstery Heater System - continued

Problem: Uph. heater switch does illuminate - but
Refer To: Jc. Upholstery heater does not work.

Heating Element Test
Wiring Diagrams

1st\/

Loose / disconnected wire connections.
Check the following connections:
e Seat section heating element to uph. PC board
e Back section htg. element to seat section htg. element

. 2nd
Perform Heating Element Test ‘/
Refer to: Section B - Upholstery Heater System

MAT02400i

604 (-003)

Upholstery Heater [ Models:
All

System Serial Numbers:

A-14

© Midmark Corporation 2005 SF-1864



Go To Table Of Contents

Upholstery Heater System - continued

Problem: Uph. heater & switch both work but shut off prematurely.

Refer To:
Heating Element Test
Wiring Diagrams

. . 1st
Timed cycle has expired. ‘/
Upholstery heater shuts OFF automatically after 8 hours.
Press uph. heater switch to turn heater back ON.

ond / Upholstery Heater Switch

Perform Heating Element Test
Refer to: Section B - Upholstery Heater System

MA701500i

[ Models:

Serial Numbers:

604 (-003) Upholstery Heater
All System A_1 5

© Midmark Corporation 2005 SF-1864




- Go To Table Of Contents -

This page intentionally left blank.



Testing & Repair

Back Release Mechanism
Table Receptacle System
Drawer Heater System

Upholstery Heater System
Stirrups

Footrest Extension Replacement
Footstep Replacement:

204 (Ritter models)

604 (Midmark models)

Click on the Go To Page button and enter the
desired page number.

(Note: Letters are case sensitve ex. A-2, not a-2)

B-1

Rev. 5/06



=
esting & Repair

Back Release Mechanism

Back Release Mechanism  [JRAMESRLE

Gas Cylinder Adjustment Gas Cylinder Adjustment

Gas Cylinder Replacement
Exploded Views / Part Numbers

Note
Newer units may have two jam nuts.

Attention:

If problem persists after performing the
appropriate adjustment, replace gas cylinder.

Jam Nut

If back section drifts up or down...

A. Remove clevis pin from bottom of cylinder.
(Refer to Gas Cyliner Replacement).
B. Loosen jam nut(s). il
C. Unscrew cylinder slightly.
D. Tighten jam nut(s) / replace clevis pin / test.
e

If back section is 'locked up’,
or difficult to position...
A. Remove clevis pin from bottom of cylinder.

(Refer to Gas Cyliner Replacement).
B. Loosen jam nut(s).

C. Screw cylinder in slightly.
D. Tighten jam nut(s) / replace clevis pin / test.

All
All

Back Release Models:
B_ 2 Mechanism Serial Numbers:

© Midmark Corporation 2005 SF-1864  Rev.8/11




- Go To Table Of Contents -

Testing & Repair

Back Release Mechanism - continued

Gas Cylinder Replacement Gas Cylinder Adjustment

Removal

Step 1: Remove top drawer.
(Refer to: Section C - Drawers) / Plunger

Installation
Step 3: Perform Gas Cylinder Adjustment.
(Refer to: previous page)

Removal
Step 2: Remove clevis pin.

Note: Press the plunger on the clevis pin,
then push pin thru spring & bracket.

Removal

Step 3: Raise back section, then
unscrew gas cylinder.

MA702200i

Installation
Step 1: Thread gas cylinder into housing.

All Back Release
All Mechanism B-3

© Midmark Corporation 2005 SF-1864

Serial Numbers:

[ Models:




Go To Table Of Contents -

aesting & Repair

Table Receptacle System

Table Receptacle System Go To Page:

Circuit Breakers Circuit Breakers
Supply Voltage Test
There are two receptacle circuit breakers to protect the system. Wiring Diagrams
If the receptacle's maximum load is exceeded, the circuit breakers Exploded Views / Part Numbers:

interrupt power to the receptacle.

Maximum Load (both outlets combined) ................. 5 amps

Circuit Breakers

Tripped
(no power to outlet)

Reset
(power to outlet)

To reset circuit breaker(s)...
Push toggle switch inward.

Table Receptacle Models:
B - 4 System Serial Numbers:

© Midmark Corporation 2005 SF-1864 Rev. 8/28/17

204 (-001 thru -004, -006 & -007, -011, -012, -014) | 604 (-001 thru -003, -005 & -006)
All All




- Go To Table Of Contents -

Testing & Repair

Table Receptacle System - continued -
Refer to:
Wiring Diagrams

Supply Voltage Test

Supply Voltage Test

Step 3: Place meter probes on wire
connection screws of receptacle.

Step 1: Remove receptacle cover

[Supply Voltage Test J

Supply Voltage Test
Step 2: Set meter to read VAC.

Supply Voltage Test
If reading is approx. 115/230 VAC (line voltage)...
Replace receptacle. MAGS9800i

If there is no voltage present...
Check all wire connections from
receptacle to supply source

204 (-001 thru -004, -006 & -007, -011, -012, -014) 604 (-001 thru -003, -005 & -006) Table Receptacle
All All System B - 5

© Midmark Corporation 2005 SF-1864 Rev. 8/28/17

( Models:

Serial Numbers:




Go To Table Of Contents

esting & Repair

Drawer Heater System
Drawer Heater System Go To Page:
Use the table below to determine the required action: Distribution Board Fuses
Probl Reauired Actl Supply Voltage Test:
roblem equired Action )
7 204 (Ritter)
Drawer heater does not warm up, Check Distr. Board Fuses 604 (Midmark)
i i i . t .
and switch does not illuminate Perform Supply Voltage Tes Heater Switch| Replacement:
Drawer heater does not warm up, Perform 204 (Ritter)
but switch does illuminate. Drawer Heater Plate Test 604 (Midmark)
Drawer heater works properly, Replace Heater Plate Test:
but switch does not illuminate. Drawer Heater Switch 204 (Ritter)

604 (Midmark)
Heater Plate Replacement
Wiring Diagrams
Exploded Views / Part Numbers:

Distribution Board Fuses

The power to the drawer heater switch
flows thru the two distribution board fuses.

If either of these fuses are faulty, the switch
will not illuminate & the heater will not function.

Distribution Board Fuses (2)

[Ritter model shown.
Location for Midmark models is the same.]

MA701000i

Drawer Heater Models: | 204 (-002 &-004, -012) 604 (-002 & -003)
B_6 System Serial Numbers: All All

© Midmark Corporation 2005 SF-1864 Rev. 8/28/17




[E= e
Testing & Repair

Drawer Heater System - continued
Refer to: _Go To Page:
Supply Voltage Test - 204 (Ritter) Wiring Diagrams

Supply Voltage Test
If reading is approx. 115 VAC...
Replace drawer heater switch.

Supply Voltage Test
Step 1: Carefully pry heater switch out of upperwrap.
* Disconnect blue & brown wires.

If there is no voltage present...
Check distribution board fuses, and connections
from distribution board to supply source.

* Power wires may be
soldered onto switch.

MAB99900i

MA9173i

Supply Voltage Test
Step 2: Set meter to read VAC.
Place probes on blue & brown wires.

( Models:

204 (-002 & -004, -012) Drawer Heater
Serial Numbers: All System B _7

© Midmark Corporation 2005 SF-1864 Rev.3/7/14




Go To Table Of Contents

?esting & Repair
Drawer Heater System - continued

Supply Voltage Test - 604 (Midmark) gsrari: Csa‘gii;‘;h;;ersicaelmem

Wiring Diagrams

Supply Voltage Test

Step 1: Remove stirrup guide.
(Refer to: Section C - Stirrup Guide)

Supply Voltage Test
Step 3: Set meter to read VAC.
Place probes on distribution board wires (blue & brown).

Supply Vltage Test
Step 2: Disconnect heater switch wires

from distribution board wires
(blue & brown).

Supply Voltage Test
If reading is approx. 115 VAC...
Replace drawer heater switch.

If there is no voltage present...
Check distribution board fuses, and connections
from distribution board to supply source.

MA700400i

[ e

Refer to: _Go To Page:

604 (-002 & -003)
All

Drawer Heater Models:
B_8 System Serial Numbers:

© Midmark Corporation 2005 SF-1864



[E= e
Testing & Repair

Drawer Heater System - continued
Refer to:

Wiring Diagrams

Heater Switch Replacement - 204 (Ritter models)

Installation
Installation

Step 2: Press heater switch into
opening until it locks into place.

Step 1: Connect four wires to proper
terminals of heater switch.

Removal

Step 2: Tag & * disconnect four
wires from heater switch.

Removal
Step 1: Carefully pry heater
switch out of upperwrap.

* Power wires may be
soldered onto switch.

MA702500i

O (bife)

@)
-
Q
Q
0 1A
S PIT— (brown)
MA760000i / (The switch terminals are HhrE
labeled on the switch).
5B 2A

(white) (white)

204 (all) Drawer Heater
All System B_g

© Midmark Corporation 2005 SF-1864 Rev.3/7/14

Serial Numbers:

[ Models:




[ e

=
sting & Repair

Drawer Heater System - continued
Refer to:

Stirrup Guide Removal / Installation C-4
Drawer Removal / Installation
Wiring Diagrams

Heater Switch Replacement - 604 (Midmark models)

Removal
Step 1: Remove stirrup guide.
(Refer to: Section C - Stirrup Guide)

Removal
Step 2: Remove top drawer from foot end.
(Refer to: Section C - Drawers)

Removal
Step 3: Disconnect two white heater switch
wires from heater plate wires.

Disconnect blue & black heater switch
wires from distribution board wires.

Removal
Step 4: Seperate switch housing.
Remove drawer heater switch.

| Installation
Step 1: Install drawer heater switch.
Secure switch housing w/ two screws.
Install top drawer.

" Installation
Step 2: Connect two white heater switch
wires to heater plate wires.

Connect blue & black heater switch
wires to distribution board wires

Drawer Heater Models:
B - 1 0 System Serial Numbers:

© Midmark Corporation 2005 SF-1864

MA700700i

604 (all)
All




[E= e
Testing & Repair

Drawer Heater System - continued S

Heater Plate Replacement
Wiring Diagrams

Heater Plate Test - 204 (Ritter)

/
Heater Plate Test
If reading is 320 Q +/-10%...
Heater plate is OK. Check connections
between heater switch and heater plate.

If reading is 0 Q...
\Replace heater plate.

/

Heater Plate Test
Step 1: Carefully pry heater switch out of upperwrap.
Disconnect two white wires.

MA700400i

Heater Plate Test

Step 2: Set meter to 2K Q.
Place probes on two white wires.

204 (-002 & -004, -012) Drawer Heater
All System B_1 1

© Midmark Corporation 2005 SF-1864 Rev. 10/15/15

Serial Numbers:

[ Models:




Go To Table Of Contents

?esting & Repair

Drawer Heater System - continued

Refer to:
Heater Plate Test - 604 (Midmark) ST CUiEs Someel

Heater Plate Test

Step 1: Remove stirrup guide.
(Refer to: Section C - Stirrup Guide)

|

Heater Plate Tes

Step 2: Disconnect two white heater switch
wires from two white heater plate wires.

Heater Plate Test

Step 3: Set meter to 2K Q.
Place probes on two white heater plate wires.

Heater Plate Test

If reading is 320 Q +/-10%...

Heater plate is OK. Check connections
between heater switch and heater plate.

If reading is 0 Q...
Replace heater plate.

%

MA700600i

Drawer Heater Models: 604 (-002 & -003)
B - 1 2 System Serial Numbers: All

© Midmark Corporation 2005 SF-1864 Rev. 10/15/15




=a

Drawer Heater System - continued

Heater Plate Replacement

Removal
Step 1: Disconnect two white heater plate wires.
(Refer to: Section B - Drawer Heater Plate Test)

Installation
Step 2: Connect two white heater plate

wires to drawer heater switch.
(Refer to: Section B - Drawer Heater Plate Test)

Removal
Step 2: Remove top drawer from foot-end.
(Refer to: Section C - Drawers)

Go To Table Of Contents -

Testing & Repair

Refer to:
Heater Plate Test:
204 (Ritter)
604 (Midmark)
Drawer Removal / Replacement
Wiring Diagrams

Bushing

Removal
Step 3: Remove screw & heater plate.

Installation
Step 1: Feed two heater plate wires up thru bushing.

Insert tabs on heater plate into slots.
Secure heater plate with screw.

MA700900i

Tabs / Slots

604 (-002 & -003)
All

204 (-002 & -004, -012) |

Serial Numbers: All

[ Models:

Drawer Heater
System B_1 3

© Midmark Corporation 2005 SF-1864




Go To Table Of Contents

E =
esting & Repair

Upholstery Heater System
Upholstery Heater System

Use the table below to determine the required action: Upholstery Heater PC Board Test:
Output Voltage Test............ccceeeune...
Problem Required Action Supply Voltage Test ..........ccccoeeuee..
Uph. heater does not warm up, Perform Uph. Heater Uph. Heater Resistance Test ................
and switch does not illuminate. PC Board Test Upholstery PC Board Replacement .......

Upholstery heater does not warm up, | Perform Heater Switch Replacement ..................
but switch does illuminate. Upholstery Heater Test Upholstery Replacement .......................

Wiring Diagrams .........ccccoeeicieeeeeeeniinnen.

Upholstery heater works properly, Replace .
but switch does not illuminate. Upholstery Heater Switch Exploded Views / Part Numbers ...........

~

Upholstery Heater PC Board Test

(Output Voltage Test)

’ From Heater
A PC Board

(€ Output Voltage Test
Step 1: Disconnect leads to
9 upholstery heater.
Output Voltage Test (¢ Output Voltage Test
Step 2: Set meter to VAC. Step 3: Place meter probes on leads
from upholstery heater PC
Output Voltage Test L Board.
Step 4: Press Upholstery (Green)
Heater switch ON.
Meter Readng Status Required Action
Check supply voltage
0VAC to heater PC board
+1::;ICKC @ Check upholstery heater

604 (-003)
All

Upholstery Heater Models:
B - 1 4 System Serial Numbers:

© Midmark Corporation 2005 SF-1864 Rev. 4/10/14




iz

e
Testing & Repair

Upholstery Heater System - continued
Refer to:

Stirrup Guide Removal
Wiring Diagrams

Upholstery Heater PC Board Test

(Supply Voltage Test)

Supply Voltage Test

Step 1: Remove stirrup guide. Note
(Refer to: Section C - Stirrup Guide) For clarity, the illustration shows only the wires being tested.

Supply Voltage Test
Step 2: Disconnect blue & brown
wires from uph. PC board.

Supply Voltage Test
Step 3: Set meter to read VAC.

Supply Voltage Test
- | Step 4: Place probes on blue & brown wires.

=

Supply Voltage Test
If reading is approximately 120 VAC...
Check wire connections & F1 / F2 fuses on Uph. PC board.

If reading is 0 VAC...
Check connections from uph. PC board to supply source.

MA701800i

|

Models:

Serial Numbers:

604 (-003) Upholstery Heater
All System B-15

© Midmark Corporation 2005 SF-1864



Go To Table Of Contents

ieSting & Repair Referto:

Heater Swtich Replacement ..................
Upholstery Replacement .......................
Exploded View / Parts List ....................

Upholstery Heater System - continued

Uph. Heater Resistance Test

Resistance Test

upholstery heater.
Ry MAB36300i
é,‘——/ Resistance Test
SV Step 3: Place meter probes on leads
2
o from upholstery heater.
Resistance Test
Step 2: Set meter to 200 Q.
" . N
Resistance Test
If reading is approximately 05)...
Replace upholstered top.
If reading is approx. 3 - 4L2...
Check heater switch,
replace switch if necessary.
P Y Y
Upholstery Heater Models: 604 (-003)
B_1 6 System Serial Numbers: All

© Midmark Corporation 2005 SF-1864



[E= e
Testing & Repair

Upholstery Heater System - continued _
Refer to:
Upholstery PC Board Replacement Stirrup Guide Removal :
Wiring Diagrams

Exploded View / Parts List

Removal
Step 1: Remove stirrup guide.
(Refer to: Section C - Stirrup Guide) 5
| ) Removal
Installation
Step 2: Reconnect all wiring
to uph. PC board
Removal

Step 3: Push standoffs back
& remove PC board.

Installation
Step 1: Push board down onto standoffs
until they lock board into place.

604 (-003) Upholstery Heater
All System B_1 7

© Midmark Corporation 2005 SF-1864

Serial Numbers:

[ Models:




==

=
esting & Repair

Upholstery Heater System - continued
Refer to:

Stirrup Guide Removal

Heater Switch Replacement
Wiring Diagrams
Exploded View / Parts List

Removal

Step 1: Remove stirrup guide.
(Refer to: Section C - Stirrup Guide)

Note . : i
{For clarity, the illustration shows only the wire harness being tested. _

[ [ oag, M

(== —
———

Removal

Step 3: Remove top drawer (foot-end).
Seperate switch housing.
Remove upholstery heater switch.

N

Removal
Step 2: Disconnect two white, & two black heater
switch wires from uph. PC board harness.

Installation
Step 2: Connect two white heater switch
wires to heater plate wires.

Installation MA702100i

Step 1: Install drawer heater switch.
Secure switch housing w/ two screws.

Connect blue & black heater switch
wires to distribution board wires

Install top drawer.

604 (-003)
All

Upholstery Heater Models:
B - 1 8 System Serial Numbers:

© Midmark Corporation 2005 SF-1864




[E= e
Testing & Repair

This page intentionally left blank.

Serial Numbers:

Models: Upholstery Heater
System B_1 9

© Midmark Corporation 2005 SF-1864




Go To Table Of Contents

iiesting & Repair

Stirrups Stirrups
Replacement
Replacement

Exploded Views / Part Numbers

Pivot Boss \

Guide
Bracket
To install stirrup...
A. Lift seat section. N
B. Slide stirrup bar thru pivot boss & guide bracket. 1
C. Install screw in stirrup bar. b
To remove stirrup...
A. Lift seat section.
B. Remove screw from stirrup bar.
C. Pull stirrup out.
MAT00800I

All
All

Models:
B-20 “ [ SeraHumoers:

© Midmark Corporation 2005 SF-1864




[E= e
Testing & Repair

Footrest Extension

Footrest Extension Go To Page:

Replacement
Exploded Views / Part Numbers:

204 (Ritter)
[Removal }

Replacement

604 (Midmark)

Step 1: Remove footrest pad & treatment pan.

Installation
Step 3: Install treatment pan & footrest pad.

Removal

Step 2: Using pliers, bend bottom tabs
(one on each side) upward.

e

Installation

Step 2: Using pliers, bend bottom tabs
(one on each side) down.

MAT01100i
Removal
Step 3: Pull footrest extension out of upperwrap.

Installation

Step 1: Slide footrest extension into upperwrap.

' Models: All Footrest Extension
Serial Numbers: All B -2 1

© Midmark Corporation 2005 SF-1864



Go To Table Of Contents

|ﬁ =
esting & Repair

Foot Step
Foot Step
Replacement - 204 (Ritter models) Replacement:
204 (Ritter)
I@?}rgglgavlv/Pass Thru Drawers 604 (Midmark)
Step 1: Push bottom gide drawer inward to access clevis pin. DrErEr EmeE] s e

Repeat from opposite side of table. Exploded Views / Part Numbers

Removal
Models w/Bulk Storage
Step 1: Remove access panel.

Installation

Step 2: Secure drawer with two
clevis pins & cotter rings.

\
Removal
Step 2: Remove two clevis pins.

e

Removal
Step 3: Remove foot step.

Installation
Step 1: Slide foot step into table.

MA702600i

204
All

Models:
B-22 ) [ Serial Numbers:

© Midmark Corporation 2005 SF-1864  Rev. 5/06




EE =]
Testing & Repair

Foot Step - continued

Replacement - 604 (Midmark models)

Removal

Step 1: Remove drawer front from bottom side drawer.
(Pull tabs down to release)

Installation
Step 3: Install side panel.

Removal
Step 2: Remove side panel.

Removal Installation
Step 3: Push bottom side drawer inward. Step 2: Secure drawer with two
Remove clevis pin. ' clevis pins & cotter rings.

Removal MA746800i

Step 4: Repeat Step 4 from opposite side of table.
Remove foot step.

Models: 604
[ st | Al ] B-23

© Midmark Corporation 2005 SF-1864




- Go To Table Of Contents

This page intentionally left blank.



Access Procedures

Upholstery:

204 (Ritter)
604 (Midmark)

Stirrup Guide
Drawers:
204 (Ritter)
604 (Midmark)
Color Insert Replacement
Reversing Drawers (604 only)

Click on the Go To Page button and enter the
desired page number.
(Note: Letters are case sensitve ex. A-2, not a-2)

>




Go To Table Of Contents -

%ccess Procedures

Upholstery

Removal / Installation - 204 (Ritter) SITIEEEE WERE [P hUroers

Soft Touch
SEEIEE]

Installation

Step 1: Position upholstered top
& footrest pad on table.

Note: Be sure locking knobs align with [Removal J

holes in back / seat mounting plates. Step 2: Remove upholstered top & footrest pad

Removal
Step 1: Rotate all locking knobs to unlocked position.

Note: There are four locking knobs under back
section, and two knobs under seat section.

Locking Knob

(shown in locked position)

Installation
Step 2: Rotate locking knobs
to locked position.

MA703800i

Upholstery - 204 ( Models:

Serial Numbers:

204 (all)
All

C-2

© Midmark Corporation 2005 SF-1864



- Go To Table Of Contents -

Access Procedures

Refer To: Go To Page:

Removal / Installation - 604 (Midmark) Stealze Ve PR VLTS

Upholstery

Premium
Ultra-Premium

Locking Knob
(shown in locked position)

Removal
Step 1: Rotate all locking knobs to unlocked position.

Note: There are four locking knobs under back
section, and two knobs under seat section.

Installation
Step 3: Rotate locking knobs to locked position.

Step 2 applies only to models with optional upholstery heater.

Removal
Step 3: Remove upholstered top & footrest pad.

Note: Slide upholstery up to remove from back support plate.

Installation
Step 1: Position upholstered top & footrest pad on table.

Note: Back support plate must slide under paper roll holder.

- MA702401i

Be sure locking knobs align with holes in back / seat

mounting plates.
Removal
Step 2: Disconnect upholstery heater harness.

Installation

Equipment Alert
Be sure harness is not pinched
between upholstery & upperwrap.

Step 2: Connect upholstery heater harness.

[ Models: | 607’4 Iga”) ] Upholstery - 604

Serial Numbers:

C-3

© Midmark Corporation 2005 SF-1864 Rev. 7/9/12



Go To Table Of Contents

%ccess Procedures

Stirrup Guide
Refer To:

Removal / Installation Exploded Views / Part Numbers

Caution
Unplug power cord before
removing stirrup guide.

Removal
Step 2: Remove two screws & stirrup guide. Tabs

Removal

Step 1: Lift seat section.

Pull footrest extension & strirrups outward. Installation

Step 1: Insert stirrup guide tabs into slots.
Secure stirrup guide w/ two screws.

MA701200i

All

Stirrup Guide All

( Models:

Serial Numbers:

c-4

© Midmark Corporation 2005 SF-1864 Rev. 7/9/12



- Go To Table Of Contents -

Access Procedures

Drawers

Drawers Go To Page:

Removal / Installation - 204 (Ritter) Rjg:"(:' ; t'”jta”a“on:
iter,

604 (Midmark)
Color Insert Replacement
Reversing Drawers (604 only)
Exploded Views / Part Numbers:

204 (Ritter)

604 (Midmark)

To remove side drawer...

A. Pull drawer out from the left side of the table .

B. Grab drawer slides (from right side of table)
and twist while lifting upward.

C. Remove side drawer / slide assembly.

j To install side drawer...
I -
{

A. Insert drawer / slide assembly into cabinet.
B. Insert two drawer slide tabs info mounting holes.

w

To install foot end drawer...

A. Align drawer slide w/ cabinet slide.
B. Push drawer straight in.

[To remove foot end drawer...

Pull drawer straight out. j .
s R

MA702700i

( Models:

Serial Numbers:

204 (all) ]
All

C-5

© Midmark Corporation 2005 SF-1864



=x =
ccess Procedures

Drawers - continued

Removal / Installation - 604 (Midmark)

To remove side drawer...

A. Remove side panel & drawer front.
(Refer to Section C: Reversing Drawers)

B. Grab drawer slides (from right side of table)
and twist while lifting upward.

C. Remove side drawer / slide assembly.

To install side drawer...

A. Insert drawer / slide assembly into cabinet.

B. Insert two drawer slide tabs into mounting holes.
C. Install drawer front & side panel.

e
=

MA706200i

To remove Exam Assistant™ drawer...

A. Press black tab on right slide UF, and
press black tab on left slide DOWN.

B. Pull drawer straight out.

To remove foot end drawer...
Pull drawer straight out.

To install foot end drawer...

A. Align drawer slide w/ cabinet slide. To install Exam Assistant™ drawer...

B. Push drawer straight in.

A. Align drawer slides w/ cabinet slides.
B. Push drawer straight in.

( Models: | 604 (all)
Serial Numbers: All

C-6

© Midmark Corporation 2005 SF-1864



- Go To Table Of Contents -

Access Procedures
Drawers - continued

Color Insert Replacement

To remove Ritter / Midmark drawer inserts...
A. Remove drawer front. (Pull tabs down to release)
B. Push insert out thru hole in back.

= )
(Ritter drawer shown) | ﬁ_—'— \

Insert Cover (clear)

/ Color Insert
| S——

Color Insert

\

=
— MATOS000)
_ Retaining Ridges
MAT705100i
. . ; C =, . . D

To install Ritter drawer inserts... To install Midmark drawer inserts...
A. Remove drawer front. (Pull tabs down to release) A. Remove drawer front. (Pull tabs down to release)
B. Install color insert. (Insert ends one at a time) B. Remove clear insert cover.

C. Position color insert.
D. Replace insert cover. (Insert ends into slots one at a time).

Note: To lock clear insert cover in place, pinch firmly
until cover snaps under two retaining ridges.

N )

All

Serial Numbers: All

[ Models:

C-7

© Midmark Corporation 2005 SF-1864



=x
ccess Procedures

Drawers - continued

Reversing Drawers - 604 (Midmark)

[Step 1: Pull side panel out from the bottom.]

(Pull tabs down to release)

[Step 2: Remove drawer fronts. ]

-'f‘.i:.‘ [Step 3: Install drawer fronts on}

; opposite side of table.

Tabs

Step 4: Install side panel on opposite side of table.
(Align panel, then push straight in)

MA705401i

[ e

604 (all)

[ Models:
All

Serial Numbers:

C-8

© Midmark Corporation 2005 SF-1864




Wiring Diagrams s

204:

-001, -003, -011
-002, -004, -012
-006, -014

604:
-001
-002
-003
-005
-006

Click on the Go To Page button and enter the
desired page number.

(Note: Letters are case sensitve ex. A-2, not a-2)

D-1

© Midmark Corporation 2005 SF-1864 Rev. (8/28/17)



ﬁiring Diagrams

Go To Table Of Contents

Circuit
Breaker

Green / Yellow

D G GP GO GO GO GO GO GO GO GO GO GO G G @ @ |

Table
Receptacle

Wire Circuit
Harness From: To: Part Number Breaker
A Power source Circuit 015-1963-00
Breakers
Circuit Breaker Table
B (brown wire) | Receptacle 015-1886-00
Circuit Breaker Table
c (blue wire) | Receptacle 015-1886-01
Wiring Diagrams Models: | 204 (-001,-003,-011) 604 (-001)
D_2 Serial Numbers: All

© Midmark Corporation 2005 SF-1864 Rev. 8/28/17

All

==



iz

Go To Table Of Contents -

Wiring Diagrams

Circuit Breaker

FEuses - refer to:

Drawer Heater System - 120 V

Receptacle
Circuit Breaker
o
=
S J4
© Blue J3 J8
5 ©
Jo J6 5
rown ' !
G/.Olq, J2 J5
2 J1 v Drawer
Heater Switch
¥ Wire Part
Harness From: To: Number
Drawer Heater Plate
White Power source | Circuit Breakers 3 )
A & Distr. Board 015-1884-00
. Circuit Breaker Table
White B (brown wire) Receptacle 015-1886-00
MA699500-01i Circuit Brgaker Table 015-1886-01
(blue wire) Receptacle
Distribution Drawer Heater
Board Switch with 015-3326-00
Harness

|

Models:

Serial Numbers:

204 (-002, -004, -012)
All

Wiring Diagrams

D-3

© Midmark Corporation 2005 SF-1864Rev. 8/28/17



=N
Iring Diagrams
Circuit Breaker
Fuses - refer to:

Drawer Heater System (120 V)

Table
Receptacle
Circuit Breaker
)
Z
= J4
(O]
Blue J3 18 @
J10) 7
; Blue
J9 J6 ‘
Brown J2 J5 :
J1 Brown .
Wire Drawer
Harness From: To: Part Number Heater Button
Power source | Circuit Breakers
A & Distr. Board | ©015-1884-00 Drawer Heater Plate
’ White White
. . { )
B Circuit Bre:_aker Table 015-1886-00
(brown wire) Receptacle
c Broak Tabl White White
ircuit Breaker able 1@
c (blue wire) Receptacle 015-1886-01
Distribution Drawer Heater MAB99600-01i
D Board Button with 015-1759-00
Harness
D_ 4 Serial Numbers: All

© Midmark Corporation 2005 SF-1864 Rev. 2/25/14



- Go To Table Of Contents -
Wiring Diagrams

Upholstery
Heater Button Fuses - refer to: Go To Pge.

Drawer Heater System 720 V. ... E-22
Upholstery Heater System

Circuit Breaker

White

Table
Receptacle —
F
,/ \\ ||
- Circuit Breaker u

| Upholstery
Heating Elements

Wire Part
Harness From: To: Number
Circuit Breakers
A Power source & Distr. Board 015-1884-00
B Circuit Bregker Table 015-1886-00
(brown wire) Receptacle
Circuit Breaker Table
c (blue wire) Receptacle 015-1886-01
Drawer Distribution Uph. Heater
Heater D Board PC Board 015-2006-00
Button
Drawer Heater Plate . . istribti Drawer Heater
White White E Distribution Button with | 015-1759-00
O Board
Harness
White White
@) Uph. Heater Uph. Htr Button
F 015-1722-00
MAB99700-01i PC Board & Htg. Elements
~ Models: 604 (-003) Wiring Diagrams
Serial Numbers: All D_ 5

© Midmark Corporation 2005 SF-1864 Rev. 2/25/14



=
Iring Diagrams

(Rear View of IEC Inlet)

Circuit
Breaker

Green / Yellow

IEC Inlet

Brown

Green / Yellow

Receptacle
(export)
Wire
Harness From: To: Part Number
IEC Inlet Circuit Circuit
A Breakers 015-2078-00 Breaker MA737500i

B Circuit Bregker Table 015-1886-00
(brown wire) | Receptacle

Circuit Breaker Table
¢ (blue wire) Receptacle 015-1886-01

Wiring Diagrams ~ Models:
Serial Numbers:

204 (-006, -014) 604 (-005)
Al All

D-6

© Midmark Corporation 2005 SF-186Rev.8/28/17




I 2F Go To Table Of Contents -

(Rear View of IEC Inlet) Wi ri ng Diag rams

Circuit Breaker

Drawer Heater System - 230 V

Green / Yellow

Green / Yellow Table
T ED G G ED ED ED ED ED ED GD ED ED ED GO GO GO @ @& & Receptacle
(export)
IEC Inlet
Circuit Breaker
Drawer
Heater
Switch
Wire
Drawer Heater Plate Harness From: To: Part Number
White
A IEC Inlet Distribution 015-2079-00
Board
White L
B Circuit Bregker Table 015-1886-00
(brown wire) | Receptacle
MA737600-01i
I c Circuit Breaker Table 015-1886-01
(blue wire) Receptacle
Distribution Drawer Htr.
D Board Switch with 015-3326-00
Harness
Distribution Circuit
E Board Breakers 015-2080-00
Models: 204 (-007) Wiring Diagrams
Serial Numbers: All D_7

© Midmark Corporation 2005 SF-1864 Rev.2/25/14



=
Iring Diagrams
Fuses - refer to: Circuit Breaker

Drawer Heater System - 230 V

Green / Yellow Table
(export)

IEC Inlet

Circuit Breaker

Wire ) ] Part
Harness From: To: Number
Drawer
Distribution Heater
A IEC Inlet 015-2079-00 .
Board Drawer Heater Plate Switch
— White White
B Circuit Bre_aker Table 015-1886-00 @
(brown wire) Receptacle
. White White
c Circuit Brgaker Table 015-1886-01 —~
(blue wire) Receptacle
Distribution Drawer Heater
D Board Button with 015-1759-00 )
Harness MA737700-01i
Distribution Circuit
E Board Breakers 015-2080-00

Wiring Diagrams ~ Models:
Serial Numbers:

604 (-006)
All

D-8

© Midmark Corporation 2005 SF-1864 Rev. 2/25/14



Exploded Views &
Parts Lists

é/( XXX-XXXX-XX
N’

)

N/
N—

)

I /( XXX-XXXXK-XX

&

@ /( XXX-XXXX-XX

)

Model Page

(-001, -002, -005, -006, -007, -011 thru -014)..E-2

E-1



204 (-001/-002 / -005 thru -007, -011 thru -014)

Ritter Upholstery: Optional Features
Soft Touch Table Receptacle:

Seamless..

includes:
paper roll holder & drawer inserts

Back Support
Mechanism

Ritter Upperwrap & — , includes:
Footrest Shelf - gas spring & release handles

includes:
seat weldment & top cover

Label Location
Stirrups

includes:
stirrup guide & pivot brackets

Ritter Drawers

includes:
all drawers & slides

Foot Step Ritter Cabinet

includes:

ST leveling feet & base cover

E—2 * Indicates multiple pages due to a model / serial number break for the parts illustration
Rev. 10/2/17



204 (-003/-004)

Ritter Upholstery:
Soft Touch
Seamless.

includes:
paper roll holder & drawer inserts

Ritter Upperwrap &
Footrest Shelf

Stirrups

includes:
stirrup guide & pivot brackets

Ritter Drawers

includes:
foot end drawers & slides

Foot Step

Go To Table Of Contents

* Indicates multiple pages due to a model / serial number break for the parts illustration

Optional Features

Table Receptacle:

Pelvic Tilt
Drawer Heater:

Back Support
Mechanism

includes:
gas spring & release handles

Label Location

Bulk Storage Doors ....E-24

includes:
hinges & mounting hardware

Ritter Cabinet

includes:
leveling feet & base/side covers

E-3

Rev. 10/2/17



604 @an

Optional Features

Table Receptacle:
Midmark Upholstery:

230V ...

w/ Uph. Heater

Ultra-Premium
w/ Uph. Heater

includes:
paper roll holder & drawer inserts

Back Support
Mechanism
Midmark Upperwrap & — — _
Footrest Shelf -y includes:
— gas spring & release handles

Midmark Cabinet
Stirrups
i Bl e includes:
includes: o o o leveling feet & side cladding
stirrup guide & pivot brackets .y : . '

Exam Assistant™
Drawer System............

Label Location

Midmark Drawers........

includes:
side cover panel
MAG9E700i

Foot Step ....coooveeeeeeeeee.

E-4 * Indicates multiple pages due to a model / serial number break for the parts illustration
Rev. 10/2/17



Note:

Upholstery sets shown on page E-6 %Medicm and
can be used on models -001 thru - Animal Health
007. Plastic components included in Parts Online
kit are Mist and will not match the
Pebble Grey table.

Standard: ©62-0876-xxx ( 1
Cal 133:  002-9872-xxx
PVC-free: 002-1134-xxx

3) 053-1566-00-271)

(4) 042-0059-11 )

Refer To: Page

Color Selector www.midmark.com

ATTENTION: Refer to Current Color Options link
5) 041-0250-23 ) above for available color codes to replace -xxx.

|

|

| 4/65> 055-0005-00 } tem

‘ @ 016-0022-00 ;

@ (1) ;

002-1427-00
@// 6) o4o-oo1o-1ea> 5
4
( 053-1577-00-271 (8) 4
G(D 002-0973-xxx > °
7
11) 053-0424-00 ) ( 045-0001-00 <7> 8
9
10
(9 029-3530-00-219 i
12
13
14
: 50-6276-00-xxx
(ooz-oees-oo-xxﬁ(a) Foot End: 14
Side Drawer: 656-6270-8+=xxx .5
16
|7
MA705500i

Description Qty.

Upholstery Set (includes items 2 thru 13) .... 1
 Seat/Back Upholstery

(must order item #1) .....ccccovvvvvcvncnene 1
e Handle .......cccoeeiiiienne e 2
® SCrew .....ccvveeenne. .4
* Nylock Flange Nut ..o 4
* Screw (10-24 X 5/8") ccvevveveeeveeccin 20
* Washer (early models only).. .20
* Paper Roll Bracket ............... e 2
e Locking Knob........... ... 6

e Footrest Pad .....

¢ Footrest Glide ...
® Snap / Stud ..o 4
* Drawer Insert Kit
(includes: 6 side & 2 foot end inserts) ....... 1

e o Drawer Inserts:

Foot End .... .2

Side Drawer ... ...6
Dowel Rod ........... v 1
Tear SIrap ..ooceeeeeeeerereereeee s 1
Kit, Upholstery Packaging (002-1907-00)
(N0t SROWN) ... 1

Always Specify Model & Serial Number

Models:
Serial Numbers:

204 (-001 thru -007)
Al

Upholstery - Ritter

(Soft Touch) E_ 5

© Midmark Corporation 2005 SF-1864 Rev. 7/10/19



http://www.midmark.com/technical-library/service-parts/055000500
http://www.midmark.com/technical-library/service-parts/002142700
http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/assets/swf/ColorSelectors/Medical_Color_Selector/c0490st.swf

Go To Table Of Contents

Order!

Medical and
Animal Health
Parts Online

002-10137-xxx( 1
002-10139-xxx

Standard:
Cal 133:

3) 053-1566-00-813)

(4) 042-0059-11 >

[y 0 W
Q
b
o

/

5) 041-0250-23 )
/65> 055-0005-00 }

6) 040-0010-168 )

e — —€¢— — —

G @ 002_10195_)(“) ( 053-1577-00-813<8>
11) 053-0424-00 ) ( 045-0001-00 (7)
C9> 029-3530-00-81:9

: 050-6270-00-xxx
<002-10200-00-xxx GS) Foot Ena: 14
Side Drawer: 856-6270-01-xxx

MA705500i

Refer To:
Color Selector

Page

www.midmark.com

ATTENTION: Refer to Current Color Options link
above for available color codes to replace -xxx.

Item

1
2

©oOoO~NO O A~W

10
11
12
13

14

15

16
17

Description Qty.

Upholstery Set (includes items 2 thru 13) .... 1
* Seat/Back Upholstery

(must order item #1)
* Handle ....

* Nylock Flange Nut
® Screw (10-24 X 5/8") .ccueevueeeeeeieriees
* Washer (early models only) .....................
* Paper Roll Bracket
e Locking KNob ........cccooviiiiiiiiiiecc,
* Footrest Pad
* Footrest Glide ...
* Snap / Stud
* Drawer Insert Kit

(includes: 6 side & 2 foot end inserts) ....... 1

e o Drawer Inserts:

FOOLENG ..o 2

Side Drawer ............ccccceeceenceeicecncrenncae 6
Dowel Rod
Tear Strap
Kit, Upholstery Packaging (002-1907-00)
(NOt SHOWN) ... 1

Always Specify Model & Serial Number

Upholstery - Ritter 204 (-011 thru -014)

All

Models:
Serial Numbers:

(Soft Touch)

E-6

© Midmark Corporation 2005 SF-1864

Rev. 7/20/18



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002142700
http://www.midmark.com/technical-library/service-parts/055000500
http://www.midmark.com/assets/swf/ColorSelectors/Medical_Color_Selector/c0490st.swf

Go To Table Of Contents

Note: Order Refer To: Page

Upholstery sets shown on page E-8 Medical and :

can be used on models -001 thru - Animal Health Color Selector www.midmark.com
Parts Online

007. Plastic components included in
kit are Mist and will not match the
Pebble Grey table.

Standard: 0602-8971-xxx
Cal 133: 002-1573-xxx
UltraFree: 602-1134=-xxx

3> 053-1566-00-271>

<4> 042-0059-11 >

ATTENTION: Refer to Current Color Options link
> 041-0250-23 > above for available color codes to replace -xxx.

= — —¢— — —

/G5> 055-0005-00 } Item Description Qty.
@ 016-0022-00 . .

1 Upholstery Set (includes items 2 thru 13) .... 1

Gﬁ) § 2 e« Seat/Back Upholstery
002-1427-00 (must order item #1) ......c.ccooeevciriins 1
6> 040-0010-168 > 3 o HaNAIE .o 2
4 @ SCIEW .ttt 4
@53-1577-00-271 <8> 5 Nylock FIange NUt ... 4
G®002-0973-XXX > 6  * Screw (10-24 x 5/8") ............ .20
7 = Washer (early models only).... ... 20
1 ‘D 053-0424-00 > < 045-0001-00 <7> 8 e« Paper Roll Bracket ..........cccccocviiiiiininnn. 2
9 e Locking Knob ... 6

10 e Footrest Pad ........cccoovviieeeeiieeeeeceeeeee 1

<9> 029-3530-00-216 >

11 e Footrest Glide .........coovveeeciiieiiiiecieccieeee. 4
12 e SNap/ Stud ..o 4
13 e Drawer Insert Kit
(includes: 6 side & 2 foot end inserts) ....... 1
14 e o Drawer Inserts:
FOOt ENG ...

Side Drawer
15 Dowel Rod ..........
16 Tear Strap ...cccveveeeeeieeseeeeeee e
17 Kit, Upholstery Packaging (002-1907-00)

<002 0965-00-xxx < (001 End: 14
Side Drawer: 656-6270-94-*)6(

MA705500-1i (NOt SNOWN) ... 1
Always Specify Model & Serial Number
Models:| 204 (-001 thru -007) Upholstery - Ritter
Serial Numbers: All (Flat)

© Midmark Corporation 2005 SF-1864 Rev. 7/10/19


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002142700
http://www.midmark.com/technical-library/service-parts/055000500
http://www.midmark.com/assets/swf/ColorSelectors/Medical_Color_Selector/c0490st.swf

Go To Table Of Contents

Order!

Medical and
Animal Health
Parts Online

Standard: 002-10141-xxx
Cal 133: 002-10142-xxx
UltraFree: 002-10145-xxx

UltraFree Cal 133: 002-10146-xxx

3> 053-1566-00-813>

<4> 042-0059-11 >

5> 041-0250-23 >

Refer To:

Color Selector

Page
www.midmark.com

ATTENTION: Refer to Current Color Options link
above for available color codes to replace -xxx.

/GFD 055-0005-00 } tem
@ 016-0022-00 ]
2
GG) 002-1427-00 §
3
4
<053-1577-00-813 <8> 5
G®002-10195-xxx > 2
7
11> 053-0424-00 > 045-0001-00 <7> 8
9
<9> 029-3530-00-81 3> 1?
12
13
14
@2 10200-00-xxx < (oot End: m
Side Drawer: 950-6279—91-)(*)( 15
16
17
MA705500-1i

Description Qty.

Upholstery Set (includes items 2 thru 13) .... 1
* Seat/Back Upholstery

(must order item #1) ......ccoovevveeceree. 1
* Handle
® SCIEW . eiieeeiee et eee e seee e e
* Nylock Flange Nut ..........ccoccoiiiiiiiiie. 4
* Screw (10-24 x 5/8") ......cccu... .20
* Washer (early models only).... .20
* Paper Roll Bracket ........ccccccoeviiiiiieiienne 2
e Locking Knob ............ .6
* Footrest Pad ....... 1
o Footrest Glide .........ocoeevvieiiiiiiiiiecee 4
® Snap / Stud .....ccoeiiiiie 4
* Drawer Insert Kit

(includes: 6 side & 2 foot end inserts) ....... 1

e o Drawer Inserts:

FOOt ENd ...

Side Drawer . .
Dowel RO ....ooiiiieie e
Tear Srap ....coceeeeeeieeeeeeee
Kit, Upholstery Packaging (002-1907-00)
(NOt SHOWN) ... 1

Always Specify Model & Serial Number

Upholstery - Ritter Models:

204 (-011 thru -014)
Serial Numbers:

All

E-8

(Flat)

© Midmark Corporation 2005 SF-1864

Rev. 7/20/18



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002142700
http://www.midmark.com/assets/swf/ColorSelectors/Medical_Color_Selector/c0490st.swf
http://www.midmark.com/technical-library/service-parts/055000500

le Of Contents
Note:

Upholstery sets shown on page E-10 can be

used on models -001 thru -007. Plastic compo- Order! Refer To: Page
nents included in kit are Mist and will not match Medical and Color Selector www.midmark.com

Animal Health

the Pebble Grey table.
Parts Online

Standard: 602-8871-xxx
Cal 133: 002-0873-xxx
PVC-free: 002-1129-xxx

3> 053-1566-00-271>

(4) 042-0059-12 )
/

ATTENTION: Refer to Current Color Options link
above for available color codes to replace -xxx.

ltem Description Qty.

1 Upholstery Set (includes items 2 thru 15) .... 1
2 e« Seat/Back Upholstery

|
|
|
|
|
|
é ( 045-0001-00 (10 GD 0021427-00 }

(must order item #1) ......cccoevvvecvnineee 1

S 7 ) 053-1549-00-271 R e tore | 2

G 2) 002-0973-xxx ) AN 4 o BOlt (1/4-20 X 1.578") ceeeeeeeeeeeeereeerrraenn. 4
GD 029'3530'00'215> \ - 5 e Washer ....ccooevruernnan. 4

S~ 6  * Nylock Nut ................ 4

1@ 053-0424-00 ) ( 055-0005-00 68 \<8> 042-0059-08 > 7+ PaperRoll Housing ... !
8 * Screw (10-24 x 5/8") .... .4

( 040-0010-12 (9) 9 @ SCIBW oot 12

10 e Washer .....ccceveveiiieeeeeeee e 12

11 e Locking Knob ... 6

12 ¢ Footrest Pad ......
13 e Footrest Glide ....

14 o 8Snap/Stud.....ccooeviiiiiiceeeeeee 4
15 ¢ Drawer Insert Kit
<002-0965-00-xxx GED (includes: 6 side & 2 foot end inserts) ....... 1
16 e o Drawer Inserts:
A FOOt ENd ...

4 A
C—'oot End:  ©56-6276-00-xxx ( 16

MAB8299i -
Side Drawer

17 Tear Strap ..o
18 Dowel ROd .......ocoiiiiiiiiicececeeee
19 Kit, Upholstery Packaging (002-1907-00)

(NOt SROWN) ... 1

Side Drawer: 650-6270-01-0x

MA705600i
Always Specify Model & Serial Number
Models:| 204 (-001 thru -007) Upholstery - Ritter
Serial Numbers: All (Seamless) E_g

© Midmark Corporation 2005 SF-1864  Rev. 7/10/19


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002142700
http://www.midmark.com/assets/swf/ColorSelectors/Medical_Color_Selector/c0490st.swf
http://www.midmark.com/technical-library/service-parts/055000500
http://www.midmark.com/technical-library/service-parts/053154900271

Go To Table Of Contents

Order!

Medical and
Animal Health
Parts Online

Standard: 002-10138-xxx
Cal 133: 002-10140-xxx
Ultrafree: 002-10143-xxx

Ultrafree Cal 133 _002-10144-xxx

3) 053-1566-00-813 )

(4) 042-0059-12 )

Refer To:
Color Selector

Page

www.midmark.com

ATTENTION: Refer to Current Color Options link
above for available color codes to replace -xxx.

|
|
g

[
[
} [ ltem Description Qty.
} } 1 Upholstery Set (includes items 2 thru 15) .... 1
| (045_0001 -00 GO > § 2 e Seat/Back Upholstery
g (must order item #1) ......ccoocvvevvevveneenne. 1
G 17 ) 002-1427-00 5 e e
(2) 002-10195-xxx 4 o BoOlt (1/4-20 X 1.578") ccoeveeeeeeereereeerrenn, 4
GD029-3530-00-813> B @ WaSHT ..o
6  * Nylock Nut
1@ 053-0424-00 ) < 055-0005-00 7 e Paper RollHousing .......cccccooviiiinicnnnne 1
8  * Screw (10-24 X 5/8") c.ocoveveveeieeeesee 4
640_001 0-12 <9> 9 © SCIeW .....uvvvvveeeeeeeeeaanns
10 e Washer ............
11 ¢ Locking Knob ...
12 e« Footrest Pad ....
13 e Footrest Glide ..
14 e Snap/Stud....ccoceeiiiiiiiiee
<002-1 0200-00-xxx @ 15 e Drawer Insert Kit
5,6 (includes: 6 side & 2 foot end inserts) ....... 1
' N 16 ¢ ¢ Drawer Inserts:
Foot End .......
FootEnd:  650-6270-08-xxx (16 Side Drawer ..
Side Drawer: 856-6270-61-xxx 17 Tear Strap ..........
18 Dowel RO .....ooiiiieieeeeee e
19 Kit, Upholstery Packaging (002-1907-00)
(NOt SHOWN) ... 1
MA705600i Always Specify Model & Serial Number
Upholstery - Ritter Models: 204 (-011 thru -014)
E_1 0 (Seamless) Serial Numbers: All

© Midmark Corporation 2005 SF-1864

Rev. 7/20/18



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002142700
http://www.midmark.com/assets/swf/ColorSelectors/Medical_Color_Selector/c0490st.swf
http://www.midmark.com/technical-library/service-parts/055000500
https://www.midmarkserviceparts.com/catalog/product/053154900813

Go To Table Of Contents

Order! Refer To: Page

Medical and .
Animal Health Color Selector www.midmark.com

Parts Online

Standard: 002-10118-xxx
Std. w/Heater: 002-10376-xxx
Cal 133: 002-10120-xxx
Cal 133 w/Heater: ©02-0880-xxx

3> 041-0010-01 >
}4) 053-1368-00 >

&

Left:  030-1494-51
Right: 030-1494-50

6> 040-0010-154 >
7> 042-0059-08 >

®

ATTENTION: Refer to Current Color Options link
above for available color codes to replace -xxx.

[ \
‘ N
| N2
‘ 1@ 029-3530-00-216>
k ‘ - -
045-0001-00 0 \ Item Description Qty.
: 8> 053-1366-00 > 1 U%holts}tery Set (includes items 2 thru 14) .... 1
040-0010-12 > 2 e Seat/Back Upholstery
GQ) 028-0606-00-xxx> 9> ‘ (must order item #1) ......cccovvvvcencnae 1
} ® NUt .o 4

3

4 e Handle ..o 2
@ 053-0424-00 { 055-0005-00 5 e szglg Bracket .......oveeueieeeeieeeeeienesnias 2

B ® SCIEW .cceiiiiiiiiieciieee e 4

7 ® SCreW....oeveeeeceenenns

8 * Paper Roll Housing .......... v 1

9 e Screw (10-24 x 5/8) ..........

10 e Locking Knob ........cccccviiiiiiiiiiiiiicee 6
11 ® Washer ..o, 12
12  Footrest Pad (includes item 13 - qty 4) ..... 1
13 e Footrest Glide .........cccereeiiinincniiene 4
Foot End:  053-1568-00-xxx m 14 e« Color Drawer Insert (3 side & 2 foot)......... 5
Side Drawer: 053-1568-01-xxx 15 Dowel RO .....ccoiiiiiiiiiiieeeeee e 1
16 Tear Strap ...ccceeeeeeeereseseeeeeee e 1
17 Kit, Upholstery Packaging (002-1907-00)
(NOt SROWN) ... 1
MA705700i
Always Specify Model & Serial Number
Models: 604 (al) Upholstery - Midmark
Serial Numbers: All (Premium) E'1 1

© Midmark Corporation 2005 SF-1864 Rev. 10/26/18


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002142700
http://www.midmark.com/assets/swf/ColorSelectors/Medical_Color_Selector/c0490st.swf
http://www.midmark.com/technical-library/service-parts/055000500

Go To Table Of Contents
Standard:

Order! 028-10031-00-xxx

Medical and Std, w/Htr: 028-0604-00-XxXX
Animal Health Cal 133: 028-10032-00-xxx
Parts Online Cal 133 w/Htr:  028-0613-00-xxx
Standard: 002-10156-xxx
Std. w/Heater: 002-10377-xxx
Cal 133: 002-10157-xxx

Cal 133 w/Heater: 002-0881-xxx

3> 041-0010-01 >
4> 053-1368-00 >

5 ) Left: 030-1494-51
Right: 030-1494-50

6> 040-0010-154 >

&

1 2> 029-3530-00-216

Refer To:

Color Selector

Page
www.midmark.com

7> 042-0059-08 >

Item
8> 053-1366-00 ) ]
9> 042-0059-08 >

|

[ t
|

|

|

w i
|

‘ 045-0001-00 0
G

G:D 028-0606-00-xxx>

©oOoO~NOOULAWN

10
11
12
13
14
15
16
17
18

Foot End: 053-1568-00-xxx
Side Drawer: 053-1568-01-xxx

o~

MA689702i

Qty.
Upholstery Set (includes items 2 thru 15) .... 1

» Seat/Back Upholstery ..........cccovvieniiinnnen. 1
© NUL e

e Handle ...............
* Handle Bracket ..

Description

* Paper Roll Housing
e Screw (10-24 x 5/8)
® SCIEW ..ottt

e Locking Knob .........cccooiiiiiiiiiie

® Washer ...

* Footrest Pad (includes item 14 - qty 4) ..... 1
e o Footrest Glde .......cccoeervviienerinciecene 4
e Color Drawer Insert (3 side & 2 foot) ......... 5
Dowel ROd ......cccoiiiiiiiiicicecee 1
Tear SIrap ..oocveceeeeeerereeeeee s 1
Kit, Upholstery Packaging (002-1907-00)

(NOt SROWN) ... 1

Always Specify Model & Serial Number

Upholstery - Midmark

Models:
Serial Numbers:

604 (all)

(Ultra-Premium) All

E-12

© Midmark Corporation 2005 SF-1864  Rev. 10/26/18



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002142700
http://www.midmark.com/assets/swf/ColorSelectors/Medical_Color_Selector/c0490st.swf
http://www.midmark.com/technical-library/service-parts/055000500

Go To Table Of Contents

Order!

Refer To:

Medical and
Animal Health Gas Cylinder GESiuch
Parts Online

(1) 002—1936—00—216>

TN
ﬁg'@

<020-0259-00-312 6 5

<053—1496—00—312 @

GD 020-0257-00-312>
12 053-1497-00-312> @ 002-1078-00

G 3 053—1523-00-312)
y )
9

NE/

016-1017-00 @

Item Description Qty.
1 Back Assembly (incl. items 2 thru 20) ......... 1
2 » Backrest Handle Kit (incl. items 3 thru 9).. 1
3 » » Back Release Weldment (LH) ................ 1
4 e * BUShING ...ooiiiiieiieeeee 2
5 » » Back Release Weldment (RH) . el
6 o ¢ NUt (#10-32) oo
7 e e HaNdIe ...
8 e » Screw (#32 x 7/16") ....

9 » * Set Screw (#32 x 1/4")
0 * Actuator Cap Housing Kit

040-0010-154 (includes items 11 thru 13) ........ccceeeneee. 1
11 <« Housing
12 <« Plunger

& 13 o o HOUSING CaAP ..cvoverereeiicieveecectee e 1
14  « Gas Spring .......

| 15 e Cam ....ccccuveee

1

T A

0 16  « Bushing ........ 2
17« E-fing (3/4") oo 2

1

=

053-1567-00-312< >
C 050-6320-00-216 6 8 C 4
\ C 030-1566-00-216( 5

18  « Back Support Weldment ...
19 © BUMPET o 2
20 Clevis Pin (W/plunger) ......cccceviveeniueeennnn. 1

041-0010-01

@ 002-1674-00 ) WATosTon Always Specify Model & Serial Number

Models:
Serial Numbers:

204 (-001 thru -007) | 604 (All) Back Support
All

All Mechanism E_13

© Midmark Corporation 2005 SF-1864  Rev. 8/30/17



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/016101700

Go To Table Of Contents

Order!

Medical and
Animal Health
Parts Online

Refer To: Page

Gas Cylinderm: ............. B-2

)<1> 002-10186-00 >

R

( 020-0259-00-312 G 5{

G ’D 020-0257-00-31 2>
/ 12) 053-1 497-00-312> @ 002-1078-00

/ (13 053-1523-00- 312)
’/ /
29

C053-1 496-00-312 G 6>

\\t
~
~N

| ~
) Q@
///

P
-
-

RoN

@ A
N
7 kf]r})\ Item Description Qty.
e SN 1 Back Assembly (incl. items 2 thru 20).......... 1
2 * Backrest Handle Kit (incl. items 3 thru 9) ... 1
3 e« e Back Release Weldment (LH)................. 1
4 ® ¢ BUShING ..cccoiiiiiiiiciiecece e 2
5 e eBack Release Weldment (RH) ................ 1
6 o o NUt (#10-32) oo, )
7 eeHandle ...t e 2
8 e eScrew (#32x7/16")........ 2
9 e eSetScrew (#32 X 1/4") wccovoeeeeeeeec. 2
10 ¢ Actuator Cap Housing Kit
(includes items 11 thru 13) .......cccoceeeee. 1
11 ® e HOUSING ...ocovviriiiieciieicee 1
12 e Plunger ..... 1
_ 13 e Housing Cap.... 1
S ) —I— = 14 e« Gas Spring.......... w1
15 e Cam............ 1
( 050-6320-00 813( C 053-1567-00- 813@') 16« Bushing.... e 2
17 @ E-rinNg (3/4") oo 2

18 e« Back Support Weldment

041-0010-01 6 19 e Bumper ... 2
20 e« Clevis Pin (w/plunger) 1

K ( 030-1566-00-813(5

<2> 002-10188-00 > WAzOs7OT Always Specify Model & Serial Numberny
Back Support Models: 204 (-011 thru -014)
E_1 4 Mechanism Serial Numbers: All

© Midmark Corporation 2005 SF-1864 Rev. 10/26/18


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/016101700

Go To Table Of Contents

Order!

Medical and
Animal Health
Parts Online

<053—2146—00—312 <16

<030-1550-00-216 (14
<053—1508—00—312 (13

(053-0220-00-271 12

\\<3> 002-1403-00 )
\\ ° 057-0840-00

Refer To:
Ritter Cabinet

ﬁ \6> 053-1553-00-216>
6

053-1559-00-216>

(omssronaso (o)

<053—1560—00—216 9

MA704300i

Item

Description Qty.
Seat Mounting Plate..........ccccocveeiieeinieenns 1
Screw (#10-24 X 3/8") cveeiiieeieeeiee e 2

204 Top Cover Kit (Converts steel cover
to plastic cover; includes plastic cover,

mounting brackets and pop rivets)
Hinge RO ......coveiiiiiieeeeeee
Cover (models w/o receptacle) ...........c.o......
Hole COVEr ......cccciiiiiiiiiii
Refer to: "Ritter Cabinet"
POP RIVEL ...

PlUG oo
Footrest Shelf ...
Footrest Pull ........
Treatment Pan ....

Upperwrap ...............
Screw (K40 X 12) .oooveveieiiieeeeeeeee e
SHITUP GUIAE .o
POP RIVEL ...

Always Specify Model & Serial Number

204 (-001 thru -007)

M Is:
odels Prior to V232022

Serial Numbers:

© Midmark Corporation 2005 SF-1864

Ritter Upperwrap &

Footrest Shelf

E-15

Rev. 9/20/17


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/053022000271
http://www.midmark.com/technical-library/service-parts/053082801

Go To Table Of Contents

Order 1B Refer To:
Medical and : .

Animal Health 1> 050—6305—00—216> Ritter Cabinet
Parts Online

e 040-0010-47

<053-2146-00-312 (16

@30—1550—00—216 <14

<053-1508-00-312 <13
<053-0220-00-271 12

002-1403-00

3 )
~ \ 0 057-0840-00

ﬁ \C'S> 053-1553-00-216>

6 ) 053-1559-00-216 )

Item Description Qty.
} 1  Seat Mounting Plate...........ccceeveveeriervirienns 1
8 2 Screw (#10-24 X 3/8") ..ceeeerieiieeee e 4

3 204 Top Cover Kit (Converts steel cover
to plastic cover; includes plastic cover,

. m_ounting brackets and pop rivets) .............. 1
\@ 4 HiNge RO ...c.covvieeiiieictecceee e 1
<030-1644-00-216 @_@ 5 Cover (models w/o receptacle) .............c...... 1
6 Hole COVEr .....ccoeviiiiiei e 2
7 Refer to: "Ritter Cabinet” Ref
(053-1560-00-216 <9 8  PopRivet.....
9 Plug ...ccoovees

10 Footrest Shelf.
11 Footrest PUll .........ccocuviviiiiiiiiee e

042-0010-30 e

14 Upperwrap .............
15 Screw (K40 x 12)
16 SHITUP GUIAE ...
MA704301i
Always Specify Model & Serial Number

Ritter Upperwrap &

204 (-001 thru -007))
V232022 to V816454

Models:
Serial Numbers:

E_15 1 Footrest Shelf

© Midmark Corporation 2005 SF-1864 Rev. 2/15/16



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/053022000271
http://www.midmark.com/technical-library/service-parts/053082801
http://www.midmark.com/technical-library/service-parts/030164400216

Go To Table Of Contents

<SS X /D 050-6305-00-216>
O

e 040-0010-47

Order!

Medical and
Animal Health
Parts Online

@53—2146—00—312 <16

042-0184-01 @

@30-1550-00-216 @4

@53-1508-00-312 @3

@53-0220-00-271 12

‘.

3

& 053-0828-01 @

(}30—1644—00—216 @_@
(

@53—1560-00-216

002-1403-00

3 )
N \ o 057-0840-00

@ \@) 053-1553-00-216>

6 053—1559—00—216>

MA704302i

Refer To:

Ritter Cabinet

Item

© oo~NO gD

10

12
13
14
15
16
17

Description Qty.
Seat Mounting Plate..........cccooeeiiiiiininnnnnne. 1
Screw (#10-24 X 3/8") .eeviiieiieee e 2

204 Top Cover Kit (Converts steel cover

to plastic cover; includes plastic cover,
mounting brackets and pop rivets) .............. 1
Hinge RO ......oooiiiiiiiiciiieee
Cover (models w/o receptacle) ...
Hole Cover ........ccovvieiiiiienene,
Refer to: "Ritter Cabinet” .............c...coc... Ref
POP RIVEL ..o 12
Plug
Footrest Shelf ..o,
Footrest Pull ...........ccoooiiiiiiiiiice,
Treatment Pan .

Upperwrap ....
Screw (K40 x 12) ...
Stirrup Guide ....... .
POP RIVEL ..o

Always Specify Model & Serial Number

204 (-001 thru -007))
V816455 to V971750

Models:
Serial Numbers:

Rev. 11/10

Ritter Upperwrap &

Footrest Shelf

E-15.2

© Midmark Corporation 2005 SF-1864



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/053022000271
http://www.midmark.com/technical-library/service-parts/053082801
http://www.midmark.com/technical-library/service-parts/030164400216

Go To Table Of Contents

Order Refer To:
Medical and . .

Animal Health Ritter Cabinet
Parts Online

@53—2146—00—312 @7

042-0184-01 @

<030 1550-00-216

042 0010-30

5 050-6298-00- 216

<053-1508-00-312 14

<053-0220-00-271 <

057 0840-00
‘ \
} 053 1553-00- 216>
S - } > 8 ) 053-1559-00-216 > Item Description Qty.
O ~ | > 1 Seat Mounting Plate...........cccccovevevrvevevrennannn. 1
N ‘ 2 Screw (#10-24 X 3/8") .oocvveieeiieiee e 2
3 Plastic TOP COVEr ....cocvvveciieeciiee e 1
4 Pop RiVeL....oeevieeciieeciees e 12
5 Top Cover Support Bracket .........cccccvevnnnne 2
6 HINge RO ....oeoiieeciee e 1
.

053 0828-01 7 Cover (models w/o receptacle) ................... 1

030 1644-00-216 @D 8 Hole Cover e SRR

9 Refer to: "Ritter Cabinet" .
10 PlUG oo

@53—1560—00—216 <10

11 Footrst Shelf........cccovevieeiiee e,
12 Footrest Pull ......
13 Treatment Pan ..
14 Glide ....ccceeenene
15 Upperwrap .............
16  Screw (K40 x 12) ..
17 SHITUP GUIAE .o

Always Specify Model & Serial Number

MA704303i

Ritter Upperwrap & Models: 204 (-001 thru -007)
E 15 3 Footrest Shelf Serial Numbers: V971751 - Present

© Midmark Corporation 2005 SF-1864



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/030164400216
http://www.midmark.com/technical-library/service-parts/053022000271
http://www.midmark.com/technical-library/service-parts/053082801

Go To Table Of Contents

Order Refer To:

Medical and
Animal Health
Parts Online

Ritter Cabinet

1 050-6305-00-813>

e 040-0010-47
/}3) 053-1548-00-81:9
y

° 042-0010-30

5 050-6298-00- 813

@53—2146-00-312 67
042-0184-01 @

@30—1550—00—813 65

@53-1508-00-312 14

@53—0220—00—813 6 3

057 0840-00

Item Description Qty.
1 Seat Mounting Plate ..........cccocceeiieeiiiennnn.
2 Screw (#10-24 x 3/8") ...
3 Plastic Top Cover..........
4 POP RIVEL ..o
5 Top Cover Support Bracket ..........ccccceeveennee 2
(053-0828-00-813 62 6 Hinge RO ......ccooviiiiiiciieecee L1
\@ 7 Cover (models w/o receptacle) ... el
(030 1644-00-813 QD 8 HOIE COVEF ovvveeeieeeieeeeeeeeee e 2
9 Refer to: "Ritter Cabinet' ... Ref
10 PlUG oo

11 Footrst Shelf........cooovveeiiiiie e,
12 Footrest Pull ..........ccouvveeiiiiiiieee e
13 Treatment Pan .

1

@53-1560-00-813 10 1
1

il

14 Glide oo 4
1

1

1

15 Upperwrap ..............
16 Screw (K40 x 12)
17 SHITUP GUIE ..o

MAT043031 Always Specify Model & Serial Number
Models: 204 (-011 thru -014) Ritter Upperwrap &
Serial Numbers: All Footrest Shelf E_16

© Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page
https://www.midmarkserviceparts.com/catalog/product/053022000813
https://www.midmarkserviceparts.com/catalog/product/053082800813
https://www.midmarkserviceparts.com/catalog/product/030164400813

Go To Table Of Contents

@_7} 040-0010-47 >
@_6) 053-1548-00-271>

Order!

Medical and
Animal Health
Parts Online

& 053-1377-00 0

@,?D 057-0840-00 )

12> 053-1553-00-271

)

042-0010-01 @

604 (-001/-004): 002-1331-00 (10

604 (-002): 002-1331-02
604 (-003): 002-1331-01

MA704403i

Refer To:

Midmark Cabinet

Item

CQOVWO~NOUILD WNPF

Description

Seat Mounting Plate
Stirrup Guide
Screw (K40 x 12)
UPPEIWIAP weeiiiiiiiiie et 1
Pop Rivet....

Treatment Pan
Footrest Shelf...
Footrest Pull
Switch Housing and Label Kit (includes

1ADEI) oo
Screw .
Cover (models w/o receptacle) ............c...... 1
HINge RO .....oooviiiiiiiiiciic 1
Top Cover Support Bracket .. .2
Pop Rivet ..o 2

Top Cover......cccoeueene 2
Screw (#10-24 x 3/8")
Refer to: "Midmark Cabinet

Always Specify Model & Serial Number

Midmark Upperwrap

604 (all)
prior to V323022

Models:

& Footrest Shelf Serial Numbers:

E-17

© Midmark Corporation 2005 SF-1864 Rev. 12/01/16



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/053022000271
http://www.midmark.com/technical-library/service-parts/053137700

Go To Table Of Contents

@5> 040-0010-47 )
@6} 053-1548-00-271>

Order'!.

Medical and
Animal Health
Parts Online

<050-6305-00-216 <1>\

<053-2146-00-312 (2\@%
7

Eﬂg
SO \\@@ 050-6298-00-216>

~ )
o~
~

™

-

O\

~
-
-
-

(030-1644-00-216 (8
@ 053-1377-00 o

@QD 057-0840-00 >

@ 042-0184-01

12) 053-1553-00-271

)

604 (-001/-004): 002-1331-00

Refer To:

Midmark Cabinet

Item Description Qty.
1 Seat Mounting Plate..........ccccooeeiieciiieens 1
2 Stirrup Guide .......... .1
3 Screw (K40 x 12) ... 1
4 Upperwrap ........... e 1
5 POP RIVEL ... 14
6 Glide .o 4
7 Treatment Pan .... el
8 Footrest Shelf...... w1
9 Footrest Pull ..., 1

10  Switch Housing and Label Kit (includes

1aDel) oo 1

11 SCIEW ittt 2

12 Cover (models w/o receptacle) ...........c.oc..... 1

13 Hinge Rod

14  Top Cover Support Bracket

15 Screw (#10-24 X 3/8") cveeeiieeieeeee e

16  Top COVer...oooevveeeiieeeiieens

17 Refer to: "Midmark Cabinet"

Always Specify Model & Serial Number

604 (-002): 002-1331-02
604 (-003): 002-1331-01
MA704402i
Models: 604 (all)

Serial Numbers: V323022 to present

Midmark Upperwrap

& Footrest Shelf

© Midmark Corporation 2005 SF-1864 Rev. 1/11

E-17.1


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/053022000271
http://www.midmark.com/technical-library/service-parts/053137700
http://www.midmark.com/technical-library/service-parts/030164400216

Go To Table Of Contents

2 ) 050-6280-00-216 Order!

Medical and
Animal Health

3 ) 042-0010-30 Parts Online

Models w/Pass-Thru Drawers

4 ) 016-0001-00

7 ) 050-6233-00-216

8 ) 050-6462-00-216
9 ) 050-6262-00-216

053-1530-00-216 ( 5
Models w/Bulk Storage Doors

10 ) 040-0010-47

Item Description Qty.
5 1  Ritter Cabinet (w/Pass-Thru Drawers)... NSS

Bottom Panel ........ccccvveeeeiiiiiiieeceeee e

2

3 Pop Rivet (5/32").

4 Leveling FOOt ........cccovevieniiiiiiiccccece

5 Stem BUmMper ...,
5 6  Ritter Cabinet (w/Bulk Storage Doors) .. NSS

7

8

9

0

1

Center Panel
050-6234-00-216
11 Access Cover

End Panel.......cccccooivieiiiiiiieee e
Screw (#10-24 X 3/8") ..eeeviiieeiiieeieeeieee e 4
Bottom Panel .........cccceveeeiiiieiiiieiiieee e 1

MA704200i

Always Specify Model & Serial Number

NSS = Not Sold Separately

Models: | 204 (-001 thru -007)
Serial Numbers: V1000 thru V264212

Ritter Cabinet

E-18

© Midmark Corporation 2005 SF-1864 Rev. 12/01/16


http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

%Order!

Medical and

Animal Health

Models w/Pass-Thru Drawers Parts Online

2 ) 016-0001-00
Models w/Bulk Storage Doors
6 ) 050-6233-00-216
7 ) 050-6462-00-216
053-1530-00-216 042-0010-30 ( 5
8 050-6262-00-216
)
9 ) 040-0010-47
Item Description Qty.
1 Ritter Cabinet (w/Pass-Thru Drawers)... NSS
2 Leveling FOOt........cccveviveiiiie e 2
3 Stem BUMPET .....oooiiiiiiieeeeeceeeree e 4
4 Ritter Cabinet (w/Bulk Storage Doors) .. NSS
3 5 Pop Rivet (5/32") c...oviieeiiiieee e 4
5 6 Center Panel .......c.ccoeevieiiiiiiiiicec e 1
10 ) 050-6234-00-216 7 ACCESS COVEN ....oeoiiiiiiiiiciieiecee e 1
8 End Panel ... 1
9 Screw (#10-24 X 3/8") cvvvevieeeiiee e 4
10 Bottom Panel .........cccooceviiiiiin 1
MA704201i ] )
Always Specify Model & Serial Number

NSS = Not Sold Separately

Models:| 204 (-001 thru -007) . :
Serial Numbers: V264213 thru Present Ritter Cabinet E 18 1

© Midmark Corporation 2005 SF-1864  Rev. 8/30/17


http://www.midmark.com/technical-library/service-parts/parts_home_page

Order!

Medical and

Go To Table Of Contents
Animal Health

Models w/Pass-Thru Drawers Parts Online

030-1558-00-813 1

2 ) 016-0001-00

053-1530-00-813 3

Item Description Qty.
1  Ritter Cabinet (w/Pass-Thru Drawers)... NSS
2 Leveling Foot
3 Stem Bumper
4 Ritter Cabinet (w/Bulk Storage Doors) .. NSS
5 Pop Rivet (5/32") c.coveeiieeiiiiecieeie e 4
6 Center Panel .......ocooeeviieiiiieiieeee e
7 Access Cover ....

8 ENnd Panel .......ccccovviiiiic e
9 Screw (#10-24 X 3/8") voveeiieiieieeeeeei 4
10 Bottom Panel .......ccccoooeiviiiiiiieen 1
MA704201i

Always Specify Model & Serial Number
NSS = Not Sold Separately

Models: 204 (-011 thru -014)
Serial Numbers: All

Ritter Cabinet

E-19

© Midmark Corporation 2005 SF-1864 Rev. 10/2/17


http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

Order'!'

Medical and
Animal Health
Parts Online

2 ) 050-6280-00-216

9 ) 029-3489-00-271 3 ) 042-0010-30

4 ) 016-0001-00

5 ) 053-1581-00-271

6 ) 029-3490-00-271

8 ) 040-0010-166

Item Description Qty.

Midmark Cabinet
Bottom Panel .............
Pop Rivet (5/32")
Leveling FOOt.......c.cocvvviiiiiiieccceeen
Hole Plug .....c.ccceevviiiieinne

Side Cladding - Left
Stem BUMPET ...,
Screw (#10-32 X 3/8") .vveiviiiieiieec 4
Side Cladding - Right .........ccooeviiiiiiiniiien 1

053-1530-00-216 ( 7

©CoOo~NOUA~WNEPE

MA704801i

Always Specify Model & Serial Number

Models: 604 (all) Midmark Cabinet
Serial Numbers: V1000 thru V264212

E-20

Rev. 12/01/16 © Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page

7

029-3489-00-271

6 ) 040-0010-166

053-1530-00-216 ( §

Midmark Cabinet

E-20.1

© Midmark Corporation 2005 SF-1864

Go To Table Of Contents

1 ) ©36-1558-62-216

2 ) 016-0001-00

3 ) 053-1581-00-271

4 ) 029-3490-00-271

MA704802i

Order'!'

Medical and
Animal Health
Parts Online
Item Description Qty.
1 Midmark Cabinet
2 Leveling Foot..........
3 HOIE PIUQ ..ot
4 Side Cladding - Left .....ccccocvvveveeiiieeciieene, 1
5 Stem BUMPET ....ovvveeeiiiiieeeeieee e 4
6 Screw (#10-32 X 3/8") vvvevceeeiieee e 4
7 Side Cladding - Right ........cccoovviviieiiieeen, 1

Always Specify Model & Serial Number

Models:
Serial Numbers:

604 (all)
V264213 thru V1177444

Rev. 12/01/16



http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

Order!

Medical and

Animal Health

Parts Online

1
6 ) 029-3489-00-271
2 ) 016-0001-00
3 ) 053-1581-00-271
4 ) 029-3490-00-271

053-1530-00-216 ( 5 Item Description Qty.
Midmark Cabinet ...........ccocvvviiiiineennnne NSS

Leveling FOOt.......cccevieeevie e 2
Hole PIUg ......cocoveviiiciee e 2

OO0~ wWNPRE

Magnetic Side Cladding - Left . W1
Stem BUmMPpPer ... 4
Magnetic Side Cladding - Right ................... 1
MA704803i . .
Always Specify Model & Serial Number
NSS = Not Sold Separately
Models: 604 (all Midmark Cabinet

V1177445 thru Present

E-20.2

Serial Numbers:

Rev. 12/01/16 © Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

Order Refer To:

Medical and .
Animal Health Upholstery - Ritter

Parts Online

Soft Touch
Seamless
Rittter Cabinet

O) 002-10424-00-216)

~
~
~
~

<053-1 551-00-216 @

ltem Description Qty.

1 Side Drawer Assembly
(includes items 2 thru 5) .........cccccccoveevnen 3
* Drawer Front (side) .........ccccocovevivieennenen. 2
* Slide Assembly
* Screw (#8x 1")
o Drawer (Side) .......ccccoeeeeieeiiiiiieeee
Foot-End Drawer Assembly
(includes items 7 thru 10) .......ccceeveuenee. 2
7 o Screw (#8-32x 1/2") ...........
8 e« Drawer Slide (foot-end)

| -

-7
» ‘T@ 053-1532-00-21 6)

6> 002-10460-00-21 6>

[)0N¢) IR "NV RN \V)

9 e Drawer Front (foot-end) ..........cccccevvuenncnn 1
10  « Drawer (foot-end) ........ccccovvvvecveienneennen. 1
11 Pop Rivet .......cccccoeeeee .

12 Cabinet Slide .......cccccoevviiriieenne .
13 Stem BUMPET ...c.ooviiiiiiiiieieeeese e

14 Refer to: "Ritter Cabinet" .............ccccco.... Ref
MA703500i 15 Refer to: "Upholstery - Ritter" ................... Ref

Always Specify Model & Serial Number

Models: 204 (-001 /-002 / -005)
Serial Numbers: All

Ritter Drawers

E-21

Rev. 9/4/19 @ Midmark Corporation 2005 SF-1864



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/016100200

Go To Table Of Contents
Order!

Medical and

Animal Health
Parts Online

(D 002-10424-00-81:9

~
~
~
~

<053-1 551-00-813 @

~
~
~
~
~
~
~
~

ltem Description Qty.

o 1 Side Drawer Assembly
\ _* (includes items 2 thru 5) .........cccccccoveeves 3
e 2 e Drawer Front (side)
L 3« Slide Assembly
4 e Screw (#8x 1",
‘\@D 053-1532:00-813 ) 6 ) 002-10460-00-813 5~ Drawer (408) T i
6  Foot-End Drawer Assembly
(includes items 7 thru 10) .......ccceeveunenee. 2
7 Screw (#8-32 X 1/2") ceeeeeeeierieee 1
8 e« Drawer Slide (foot-end) ..........cccccoeeuenucnne. 1

9 e Drawer Front (foot-end) ....
10 e« Drawer (foot-end) .............
11 POop RiVet ...,
12 Cabinet Slide .......cccooeriiiriiiieseee
13 Stem Bumper ......cccoceverrennne
14  Refer to: "Ritter Cabinet"
MA703500i 15 Refer to: "Upholstery - Ritter" ................... Ref

Always Specify Model & Serial Number

Models: 204 (-011 thru -013)
Serial Numbers: All

Ritter Drawers

E-22

© Midmark Corporation 2005 SF-1864 Rev. 9/4/19



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/016100200

Go To Table Of Contents
Refer To:

1> 029-3487-00-216> Upholstery - Midmark:

Premium
Ultra-Premium
Exam Assistant Drawer Assy

C053-1534-00-216 (3
Order!

C053-1514-00-216 (4
Medical anc;
Animal Health
040-0008-109 ( 5 Parts Online
( 016-1002-00 (6

ltem Description Qty.
1 Side Drawer Assembly
(includes items 2 thru 6) ...............ccccc...... 3
2 e Insert Cover (Side) .......ccowomverieveiercenn. 1
3 e Drawer Front (side) .........ccccovevienennenen.
4 e Plastic Drawer (side) ..............
5 e Screw (#8 x 1", self-tapping) .....
6 e« Drawer Slide Assembly (side) ....
7 Foot-End Drawer Assembly
(includes items 8 thru 12) .........cccoceeenee. 1
8 e« Screw (#8 x 1", self-tapping) ........cc.cc.ccu... 2
9 e« Drawer Slide (foot-end) .........cc.ccccvevereeee 1
10 e Drawer Front (foot-end) .........c.ccccevveuennen. 1
11 e Insert Cover (foot-end) .........cccocevcvecrcncnne. 1
12 e Plastic Drawer (foot-end)...........c.cccccee..... 1
7 13 POp RiVet ..o 1
14  Cabinet Slide (foot-end) .........c.ccocuevveerenncnenn 1
\G® 053‘1535'00'216> 15 Side Panel ......ccccooeviiiiiniccccsenee 1
\\C 16 Stem BUMPET .....oovcvceiceeeeeee e 4
17 Refer to: Exam Assistant™
1D 053-1533-00 ) 029_3486_00_216) Drawer ASSEMDIY .........cccoeeeceeviaaan.
MA704600i 18 Refer to: "Midmark Upholstery"

Always Specify Model & Serial Number

604 (ali)

Models:
All

Serial Numbers:

Midmark Drawers

E-23

© Midmark Corporation 2005 SF-1864 Rev. 12/2/18


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/016100200
http://www.midmark.com/technical-library/service-parts/053151900216

(Left)

Go To Table Of Contents

7

2 ) 042-0184-00

3 ) 040-0010-157

(Right)

053-0716-00

4

1 )Right: 029-3462-00-216
Left: 029-3462-01-216

016-0510-00 (e ]

5 )053-1039-01

MA704700i

Order!

Medical and
Animal Health
Parts Online

Item Description Qty.
Door Assembly (includes items 2 thru 7) .... 4

Door Panel (not available) ...
BUMPET ..o

~NOoO b WN R

Always Specify Model & Serial Number

Models:
Serial Numbers:

204 (-003 & -004)
All

Rev. 10/05

Bulk Storage Doors

E-24

© Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/016051000

Go To Table Of Contents

204: 002-10459-00-216( 1
604: 029-3488-00-216

Order'!

L]

Medical and
Animal Health
Parts Online

o 042-0004-00

204: 053-1583-00-232 ( 2
604: 053-1539-00

G 050-6317-00
|

|
\ [ 042-0002-20
g { T Item Description Qty.

042-0602-35 @ ;
\\} ‘ L } 1 Step Assembly
053-1541-00-216 (14 & A (includes items 2 thru 17) .......ooooeeeeee..
% “@ < - ‘\;® 053-1542-00-216 > o Step Cover (204 shown)............cccceeveune.

® Hitch Pin ..o

i 2

; 3

| 4 0 Clevis PiN ...
(053'1637'00'215 Q_?D// 5 Slide Center Assembly Kit

! : D (includes two slides / mtg. brackets) ......

6 * Support Bracket ..........cccceeiiiiiiiieee

7 ® DOWEl PN oo

8 e Trailing Arm ... rraeea

9 * Push Nut........ eee————
10 < Bumper .......... e

11 e Step Bottom .......ccceveeeee. e
12« Hex Bolt (1/4-20 x 1/2") .. e
13 e Friction Bumper .............. e

14 e ROller o
15 ¢ Clevis Pin ..o
16 @ SPriNG oo
MA703600i 17 o Screw (5X20 MM) .ccoeeeeeiieieieieeee 10
Always Specify Model & Serial Number
Models: 204 (-001 thru -007) 604 (All)
E'2 5 P Serial Numbers: All All

© Midmark Corporation 2005 SF-1864 Rev. 9/4/19


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/029348500216
http://www.midmark.com/technical-library/service-parts/053158300232
http://www.midmark.com/technical-library/service-parts/002109500

Go To Table Of Contents

(oozq 0459-00-813 @

?

i 0 050-6317-00
Pl
<G
042-0602-35 g N 042-0002-20
(vsz060235_(15) S A
|

|
|
: |
| N
<053-1541-oo-s1 Q@\\:ﬁ%m |
| |
N 053-1542-00-813
= ® )
@ @ =
| |
|

3
@53-1637-00-813 @3)// e 041-0009-01

53-1530-00-813

040-0250-157 @

MA703600i

Order!

Medical and
Animal Health
Parts Online

ltem Description Qty.

1 Step Assembly
(includes items 2 thru 17) ......

2 e« Step Cover (204 shown)....
3 e HitchPin ..o
4 0 Clevis PiN ...
5 e Slide Center Assembly Kit
(includes two slides / mtg. brackets) ...... 1
6 o Support Bracket.........cccccoeeiiiiiiiiiiiiien 2
7 e+ Dowel Pin ................ 2
8 e Trailing Arm ...... 2
9 e Push Nut........... 2
10 < Bumper............. .2
11 * Step Bottom ........cceveeee. 1
12 e Hex Bolt (1/4-20 x 1/2") ..... 4
13 e Friction Bumper .............. 2
14 e Roller ......ccceeueene 2
15 e Clevis Pin.......... .2
16 @ SPrNG ceeeeeeierieeeereeeee e 2
17 o Screw (5X20 MM) .ccoeveeeiieieieieeee 10

Always Specify Model & Serial Number

Models: 204 (-011 thru -014)
Serial Numbers: All
Rev. 9/4/19

Foot Step E'26

© Midmark Corporation 2005 SF-1864



http://www.midmark.com/technical-library/service-parts/parts_home_page
https://www.midmarkserviceparts.com/catalog/product/0021019100
https://www.midmarkserviceparts.com/catalog/product/029348500813
https://www.midmarkserviceparts.com/catalog/product/053158300872

Go To Table Of Contents

Order!

Medical and
Animal Health
Parts Online

(/
040-0010-47 6 RN
o B

|
- |
% a 050-5027-00
e 016-0400-00
0 051-1003-01

0 042-0001-39

Refer To:
Upperwrap & Footrest Shelf:

Ritter

Item Description Qty.

1 Stirrup Assembly Set (incl. 2 assemblies)
(includes items 2 thru 4) .....cccceevveeeeeeeenen. 1
2 ¢ SHITUP coeeeiie et 1
3 S ROIPIN (i 1
4 o SHITUP Bar ..ceeecvveeiiie e 1
5 SCrew (24 - 3/8") .oocevceeeeeeerere e 2
MA703900! 6  Guide Bracket Spring...........cccoooveeiviiiiennns 2
7 Guide Bracket ........cccocveiiineenieie e 2
8 PIVOt BOSS ....ooiviiiieniiiiieiic e 2
9 Refer to: "Upperwrap & Footrest Shelf"... Ref

Always Specify Model & Serial Number

Stirrups ~ Models: | 204 (-001 thru -007) 604 (All)
E_27 Serial Numbers: All All

© Midmark Corporation 2005 SF-1864  Rev.8/30/17



http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002071909
https://www.midmarkserviceparts.com/catalog/product/020033700216

Go To Table Of Contents

Order Refer To:

An“.”n‘ii'ﬁiiﬂﬁ Upperwrap & Footrest Shelf:
Parts Online Ritter ....

/’]\ ) ~

o

040-0010-47 G

-
@& ) |
~N // ‘
Q% 0 050-5027-00
e 016-0400-00
° 051-1003-01

e 042-0001-39 Item Description Qty.

1 Stirrup Assembly Set (incl. 2 assemblies)

(includes items 2 thru 4) ........cccoveevieeennnen. 1

2  Stirrup
3 S ROIPIN oo
4 e SHITUP Bar ..o
5 Screw (24 - 3/8") ....

MA703900I 6  Guide Bracket Spring ...........ccocceeiiiiiieinnn, 2
7 Guide Bracket ...........ccoceiiiiiiiiiiiiiee 2
8 PIVOt BOSS ....oocviiiiiiiiiiei e 2
9 Refer to: "Upperwrap & Footrest Shelf"... Ref

Always Specify Model & Serial Number
~ Models: 204 (-011 thru -014) Stirrups
Serial Numbers: All

E-28

Rev. 8/30/17 © Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page
https://www.midmarkserviceparts.com/catalog/product/0021018900
https://www.midmarkserviceparts.com/catalog/product/0021018900

Order!

Medical and
Animal Health
Parts Online

015-1596-00 e

E-29

Go To Table Of Contents

5) 040-0010-47 >

v
|
|

042-0168-00 e

Table Receptacle

System - 120 V

© Midmark Corporation 2005 SF-1864

)/<4> 053-1528-00-216)

e 015-0083-02

204: 053-1529-00-216 ( 7

604: 053-1529-00-271

1 204: 002-1935-00-216

604: 002-1935-00-271

0 042-0184-01

040-0006-23 G

MA704101i

Refer To:
Table Receptacle:

Supply Voltage
Wiring Diagrams

Item
1

©Ooo~NOO UL WN

Description Qty.

Table Receptacle Assembly

(includes items 2 thru 8) ......cceevcvvveriiveenns 1
* Duplex Receptacle (W/SCrews) ................. 1
e Screw (M3.5 X 10) .oovveeeiiieeiiieeniee e
« Circuit Breaker Housing ..
* Screw (#10-24 x 3/8") .....
« Circuit Breaker (5 amp) .....cccccceevveeerneennnns
* Receptacle Cover Plate ..........c.cccoeecvveennne
* Screw (#6-32 x 1/2")
© SCrew (M4 X 12) cveeeiiieiiieeeeeesiee e
Always Specify Model & Serial Number

Models:
Serial Numbers:

204 (-001 thru -004)
V1000 thru V237758

604 (-001 thru -003)
V1000 thru V237758

Rev. 4/15



http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

Order!

Medical and
Animal Health
Parts Online

204: 002-1935-00-216
604: 002-1935-00-271

/(5) 040-0010-47 )

g )/<4> 053-1528-00-216> 1

|

N
|
2 . Q 015-0083-02
- -

015-1596-00 G ﬁé\ b
042-0184-01 e

~
~
~

~

~
~
~
~

Refer To:
Table Receptacle:

Supply Voltage (@239
Wiring Diagrams

1

204: 053-1529-00-216 7
604: 053-1529-00-271

040-0006-23 @

o~NO O WN

MA704102i

Item

Description Qty.

Table Receptacle Assembly

(includes items 2 thru 8) ......ccceeevvveviiveennns
* Duplex Receptacle (w/screws) ....
e Screw (M4 X 12) cooveevieeciieecieeens
« Circuit Breaker Housing ....
e Screw (#10-24 x 3/8") .......
« Circuit Breaker (5 amp) .....
» Receptacle Cover Plate .... .
o SCrew (#6-32 X 1/2") vvevceeeee e

RPRNRRPRARR

Always Specify Model & Serial Number

204 (-001 thru -004)
V237759 thru Present

Models:
Serial Numbers:

604 (-001 thru -003)
V237759 thru Present

Rev.8/30/17

Table Receptacle

System - 120 V

E-29.1

© Midmark Corporation 2005 SF-1864



http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

%Order!
Medical and

Animal Health
Parts Online

5> 040-0010-47 >

. )/(4) 053-1528-00-813 )
|
|
|
o 015-3496-00

\@ S
015-1596-00 e @é ol e
~ £
042-0184-01 o /
N

I

S

<053-1529-00-813 7

040-0006-23 e

MA704102i

Refer To:
Table Receptacle:

Supply Voltage
Wiring Diagrams

Item

ONOOHA~WN

Description Qty.
Table Receptacle Assembly
(includes items 2 thru 8) .........cccveevevennen.. 1
¢ White Duplex Receptacle (w/screws)........ 1

© SCrew (M4 X 12) oo
 Circuit Breaker Housing
o Screw (#10-24 X 3/8") eeeeeeeeeeceeevaannn
¢ Circuit Breaker (5 amp)
* Receptacle Cover Plate
® SCrew (#6-32 X 1/2") cveveeeeeeeeeeeevaeenn

Always Specify Model & Serial Number

204 (-011 thru -014)

Models: b

Serial Numbers:

Table Receptacle

E-30 System - 120 V

© Midmark Corporation 2005 SF-1864  Rev. 7/25/18



http://www.midmark.com/technical-library/service-parts/parts_home_page

Order!

Medical and
Animal Health
Parts Online

015-1596-00

015-0639-00 ( 9

AN

053-1585-00 ( §

1

Go To Table Of Contents

2 ) 040-0010-47

3 ) 053-1528-00-216

Refer To:
Table Receptacle:

Supply Voltage (@239
Wiring Diagrams

International Receptacle Styles

204: 053-1627-00-216 6
604: 053-1627-00-271

Refer to chart ( §

Refer to chart ( 7

Belgium / Europe  United Kingdom Italy* Switzerland* Australia Isreal
()
o o - - 000 0,0 A
e 0 [
Country Item #5 Item #7
Belgium / Europe 015-1294-00 015-0363-00
United Kingdom 015-1294-02 015-0363-03
Italy 015-1294-03* 015-0363-01
Switzerland 015-1294-04* 015-0363-02
Australia 015-1294-05 015-0363-04
Isreal 015-1294-06 015-0363-05
* Spacer required (#015-1294-07) - not shown
4 ) 042-0184-01
)

Item Description Qty.
1 Circuit Breaker (5 amp) .....ccccevevveeiveeseneennne. 2
2 Screw (#10-24 X 3/8") ..ooveiiieieieeeeeine 1
3 Circuit Breaker Housing .........cccccocvveeiineennns 1
4 Screw (M4 X 12) .o cee e 2
5 Receptacle ......cccccvvvvie i 1
6 Receptacle Cover Plate ........ccccccceeevvveennnnn. 1
7 Power Cord ... .1
8 Hole Plug ... .1
9 IEC NIt oot 1

MA737900i Always Specify Model & Serial Number

Models:

Serial Numbers:

204 (-006 & -007)

604 (-005 & -006)
All

All

Table Receptacle
System - 230 V E_31

© Midmark Corporation 2005 SF-1864 Rev. 12/01/16


http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

ord -! Refer To:

raer

Medical and 2 ) 040-0010-47 Table Receptacle:

Animal Health Test
Parts Online Supply Voltage -

3 ) 053-1528-00-813 Wiring Diagrams

SN

International Receptacle Styles

Belgium / Europe  United Kingdom Italy* Switzerland* Australia Isreal
015-1596-00 ( 1 o - P
o O
O . O : [elyeNe} o !
Country Item #5 Item #7
Belgium / Europe 015-1294-00 015-0363-00
United Kingdom 015-1294-02 015-0363-03
Italy 015-1294-03* 015-0363-01
Switzerland 015-1294-04* 015-0363-02
Australia 015-1294-05 015-0363-04
Isreal 015-1294-06 015-0363-05

* Spacer required (#015-1294-07) - not shown

4 ) 042-0184-01

)
053-1627-00-813 ( @
Refer to chart ( 5 Iltem Description Qty.
015-0639-00 ( 9 1 Circuit Breaker (5 amp) ......cccccocevevevevevenenann. 2
2 Screw (#10-24 X 3/8") eevvieiiieeee e 1
3 Circuit Breaker HOUSING ........cceevviveeiiieennne. 1
4 Screw (M4 X 12) ..o 2
5 Receptacle .........ccccoveeiiiiiiieeen 1
053-1585-00-813 8 6 Receptacle Cover Plate ...........ccceevveeeninenn. 1
7 Power Cord .......c.cceeviieeniieneeesee e 1
8 HOlE PlUg ....oooieeeieeeeeeee e 1
Refer to chart ( 7 T o 1 1 1
s
MA737900i Always Specify Model & Serial Number

Models: 204 (-014)
Serial Numbers: All

System - 230V
E-32 Y

© Midmark Corporation 2005 SF-1864 Rev. 8/30/17



http://www.midmark.com/technical-library/service-parts/parts_home_page

< 002-1712-00 (1

%Order!
Medical and

Animal Health
Parts Online

Go To Table Of Contents

Refer To:
Upperwrap & Footrest Shelf:

[
|
|
|
|
|
|
|
|
|

\

( 016-1018-00

~
~
~
2 ~
~
~

(053-1550-00-216 (3

4) 050-6304-00-216>

Ritter
Midmark

Item

o0 WN

MA704900i

Description Qty.
Pelvic Tilt Assembly
(includes items 2 thru 5) ......cceevivieiiieennns 1
* Pivot Pin
® BUMPET oo
e Bracket ...
e Handle ...
Refer to: "Upperwrap & Footrest Shelf"... Ref

Always Specify Model & Serial Number

|

Models:

Serial Numbers: All

204 (-002 /-004 /-005) 604 (-002 thru -004)

All

Pelvic Tilt

E-33

Rev 8/30/17 © Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/002171200

Go To Table Of Contents

Order!

Medical and
Animal Health
Parts Online

[
|
|
|
|
|
|
|
|
|

AN

( 016-1018-00 (2 S~

(053-1550-00-216 (3

< 002-10192-00 (1

MA704900i

Refer To:
Upperwrap & Footrest Shelf:

Ritter
Midmark

Item

OO~ WN

Description Qty.

Pelvic Tilt Assembly

(includes items 2 thru 5) ......cccovevviiiiennene 1
e Pivot Pin ...ooooviiiiieciiee,
e Bumper ....
 Bracket ....
e Handle .....ccoovviieeiii
Refer to: "Upperwrap & Footrest Shelf"... Ref

Always Specify Model & Serial Number

Pelvic Tilt

Models: 204 (-012, -013)
Serial Numbers: All

E-34

© Midmark Corporation 2005 SF-1864 Rev 8/30/17



http://www.midmark.com/technical-library/service-parts/parts_home_page
https://www.midmarkserviceparts.com/catalog/product/0021019200

Go To Table Of Contents

1> 053-0068-06 > St
Drawer Heater System

Order'!

Medical and
Animal Health

Parts Online Upperwrap & Footrest Shelf:

Midmark

0 015-0346-25

e 015-1593-00

@ 204: 015-3326-00 ( §

© 029-3474-00-216\ 1

604: 029-3474-01-216 Item Description Qty.

1 Snap BUShiNg ........ccoeeiiieiiiieiiccec e 3
2 Fuse (250V, 0.8 amp,

5x 20 mm, Time-Lag) .....ccccceveeerueeeriurnnnnns 2
3 Distribution Board ...........ccccoeevieiiiiinineen. 1
4 Standoff ..., 4
5 Refer to:

MidmarkUpperwrap & Footrest Shelf ... Ref
6 Screw (#10-24 X 3/8") cveeeiiieiiieree e 2

7 Heater Plate Kit (includes item 8,

J and one each of itemsS 1 & 6) .......cccevveennee 1
C 040-0010-47 <6 8 ¢ Drawer Heater Switch .............. 1
| 9 Cable Tie .ccocveeevviieeeees 2

10 Lockwasher (#10) .......cccerieeenieeniieeiee e 1

MA705200i
Always Specify Model & Serial Number
Models:| 204 (-001 thru -004) 604 (-002 & -003) Drawer Heater
Serial Numbers: All All System - 120V E'35

© Midmark Corporation 2005 SF-1864 Rev. 1/30/15


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/015175900
http://www.midmark.com/technical-library/service-parts/015332600
http://www.midmark.com/technical-library/service-parts/029347400216

Go To Table Of Contents

1) 053-0068-06 ) Eielter Thar
@ Drawer Heater System
3

Order!

Medical and 045-0001-31 m
Animal Health Upperwrap & Footrest Shelf:
Parts Online

Midmark

o 015-0346-25

1
{

<> e 015-1593-00

G 015-3326-00 ( §

Test
029-3474-00-813 @

Item Description Qty.
1 Snap BUShing .....ccccvvevieeiiiec e 3
2 Fuse (250V, 0.8 amp,

5x 20 mm, Time-Lag) .....ccccevvvrrrvreriveennns 2
3 Distribution Board ...........cccoceevieniiiiiniennenn 1
4 StaNdOff ... 4
5 Refer to:
MidmarkUpperwrap & Footrest Shelf ... Ref
6 Screw (#10-24 X 3/8") vvevveeeiie e 2
7 Heater Plate Kit (includes item 8,
and one each of items 1 & 6) ......cccceveeenee 1
8  « Drawer Heater Switch ........ccccccvviininnnen. 1
9 Cable Tie c..ooieeiiee 2
MA705200i 10 Lockwasher (#10) ......ccceveeeevieeiiieesieeenieeens 1
Always Specify Model & Serial Number

Drawer Heater Models:
E_36 System - 120 V Serial Numbers:

204 (-011, -012)
Al

© Midmark Corporation 2005 SF-1864 Rev. 8/30/17


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/015332600
https://www.midmarkserviceparts.com/catalog/product/029347400813

Go To Table Of Contents

1) 053-0068-06 ) Sy T
('\irgerl gd Drawer Heater System
edical an
Animal Health - @ Upperwrap & Footrest Shelf:
Parts Online -

g Midmark

0 015-0346-25

A
{

|

|

o

<> 0 015-1593-00

®

204: 015-0650-04 ( §

204: 029-3879-00-216 7 o
604 029-3879-01-216 Item Description Qty.
1 Snap BUShiNG ......cocvviiiiiiee e 3
2 Fuse (250V, 0.8 amp,
5x 20 mm, Time-Lag) .....ccccecvveerveennineennns 2
3 Distribution Board ...........ccccevveeiiieeiiieennnnnn 1
4 Standoff ......oeeiii 4
5 Refer to:
MidmarkUpperwrap & Footrest Shelf ... Ref
6 Screw (#10-24 X 3/8") eeveeiiieeeeee e 2
7 Heater Plate Kit (includes item 8,
and one each of itemsS 1 & 6) .......ccccvveennee 1
8 « Drawer Heater Switch
9 Cable Tie ....ccovevveerieeene
_ 10 Lockwasher (#10) .......cccovveerieriiiee e
MA705200i
Always Specify Model & Serial Number
Models: 204 (-007) 604 (-006) Drawer Heater
Serial Numbers: All All System - 230 V E 37

Rev. 6/07 © Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

Order 1B Refer To:

Medical and Uph. Heater System
Animal Health

Parts Online @ Upperwrap & Footrest Shelf:

Midmark
Midmark Upholstery:

Premium

Ultra-Premium

015-0346-05  Q > ¢

|
‘
002-1261-00 8 }
s
|

Item Description Qty.
1 Adjustment KNob........cccoooiiiiiiiiiiieeee, 1
2 Refer to:
Midmark Upperwrap & Footrest Shelf .. Ref
3 Adjustment Shaft ... 1
g 015-1758-00 ( 6 4 CabIE TiE coooooeosoeeeceeee e 3
5 Refer to: Drawer Heater System ..... . Ref
6 Upholstery Heater Switch (green)................ 1
7 Standoff ..o, 4
8 Uph. Heater PC Board Kit
(includes items 2 & 9) ...oeeevvieiiieiiiiiees 1
9  « Fuse (250V, .5A, Slo-Blo, 1/4" x 1-1/4") ... 2
10 Refer to: Midmark Upholstery .................. Ref
MA7053001 Always Specify Model & Serial Number
Upholstery Heater Models: 604 (-003)
E'38 System Serial Numbers: V2200 thru V857486

© Midmark Corporation 2005 SF-1864 Rev. 12/01/16


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/015175800

Go To Table Of Contents

o -! Refer To:
rder
Medical and Uph. Heater System Test

Animal Health Upperwrap & Footrest Shelf:
Parts Online .
Midmark
Midmark Upholstery:
Premium
Ultra-Premium

Item Description Qty.

1 Refer to: "Midmark Upperwrap
& Footrest Shelf" ............ccooiiiiiiiiiins

Upholsery Heater PC Board ...

Wrap-n-Tap Wire Tire .........ccceeeeee.

Refer to: "Drawer Heater System" .......... Ref.

Upholstery Heater Switch (green)................ 1

PC Board Standoffs .............ccceueene

Refer to: "Upholstery - Midmark"

~NOoO o~ wWwN

Always Specify Model & Serial Number

604 (-003) Upholstery Heater

V857487 thru present System
E-38.1

Models:
Serial Numbers:

Rev. 7/10 © Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page
http://www.midmark.com/technical-library/service-parts/015175800

Go To Table Of Contents

Order!

Medical and
Animal Health 040-0008-106 @
Parts Online

1) 029—3513—00—216>

044-0013-50 @

Refer To:
Midmark Upholstery:

Premium
Ultra-Premium

Item

©CoOo~NOOOhhWwWN

o 016-1013-02

10

12
13
14
15

o 042-0184-01
a 016-1013-00

MA706100i

Description

Exam Assistant™ Drawer Assembly
(includes items 2 thru 14) .........ccccevueernen. 1
Fold-Down Drawer
PivOt RO ...
Push NUL ...
Drawer Mount
Inner Drawer Slide (right) ........ccccoveeninenne 1
Outer Drawer Slide ..........cccocoeevieiiniinnnen.
Screw (M4 x 12mm)
Inner Drawer Slide (left) .......cccoceveennneen. 1
Fold-Down Drawer Front ............ccccoeeeeueene 1
Insert Cover (clear)
Edge Trim ...
e Weld NULS ..o
¢ SCrew (#8-32 X 1/4) .ooeieiiiiiieee e 2
Color Insert

Refer to: Upholstery - Midmark ................. 1

Always Specify Model & Serial Number

604 (all)
All

Exam Assistant™ Models:

Serial Numbers:

E-39

Drawer Assembly

© Midmark Corporation 2005 SF-1864 Rev. 11/06



http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

2 Order!

Medical and

Animal Health

604 Parts Online

2) 204
1 ) 061-0860-01
3 ) 061-0292-00
4 ) 061-0291-00
Item Description Qty.
1 Midmark Nameplate ..........ccoooeeiiiieiiiieninnn. 2
2 ETL Label .ooeeeriieiieecieeeeeceeee e, 1
3 Patent Pending Label.........c.ccccoiiiniiinnnen. 1
4 Patent Numbers Label ............ccoocvvveeeiiinnns 1
5 Serial Number Label .........ccccoovveviiiiieneeenns 1
8 ) LH (shown): 061-0914-01 6  Power Cord Label (standard) ............cceeueeee 1
RH: 061-0914-00 7  Power Cord Label (dual) ........ccccceereeniennene 1
8 Ritter 204 Label ........ccceeeeveiiiieeiieiieeee e 1
MA706400i
Always Specify Model & Serial Number
~ Models: 204 (-001 thru -007) 604 (All) Label Location
Serial Numbers: All All E_40

Rev. 12/01/16 © Midmark Corporation 2005 SF-1864


http://www.midmark.com/technical-library/service-parts/parts_home_page

Go To Table Of Contents

Order!

L]

Medical and
Animal Health
Parts Online

204

3 ) 061-0292-00

4 )061-0291-00

8 )061-10038-00

Item Description

ETL Label ...oooviiiiee e
Patent Pending Label ...
Patent Numbers Label ..........c.cccoeeniiennnnn.

Serial Number Label .........ccccoooiiiiiiiiiee.

Power Cord Label (standard) ...........ccceerueee. 1
Power Cord Label (dual) .........ccccoveervveennnnn. 1
Ritter 204 Label .........ccccovcveeiiiiiieeiieceen 2

o~NOoO O~ WDN

Always Specify Model & Serial Number

Models: | 204 (011 thru -014)

Label Location .
Serial Numbers:

E-41

© Midmark Corporation 2005 SF-1864 Rev. 10/2/17


http://www.midmark.com/technical-library/service-parts/parts_home_page

- Go To Table Of Contents

Midmark Corporation

60 Vista Drive

P.O. Box 286

Versailles, OH 45380-0286

937-526-3662 MIDMAHI(

Fax 937-526-5542
www.midmark.com Because we care.




- Go To Table Of Contents -

COMMENTS

The Technical Publications Department of Midmark Corporation takes pride in its manuals. We are sure that our manuals will fill all your needs when you are perform-
ing scheduled maintenance, servicing, or repairs on a Midmark product. However, if you find any errors or feel there should be a change, addition, or deletion to the
manuals, please let us know. We will correct any errors that we are made aware of and we will review requests for changes, additions, or deletions to the manuals and
incorporate those requests deemed appropriate. If you see something in one of our manuals that you like or dislike, please let us know. Also, if there is something you
feel we could do to produce a better manual, please let us know.

If an error is found, please list the page and paragraph/figure in which the error was found along with a brief description of what the error is. If the correction to the error
is known, please include that information also. If a change, addition, or deletion is being requested, please list the page and paragraph/figure needing the change, along
with a brief description of how you feel the paragraph/figure should be changed.

Midmark Corporation

ATTN: Technical Publications Dept.
60 Vista Drive

Versailles, Ohio 45380

Fax: (937) 526-5542

Please fax or mail a copy of this completed comment sheet to:

Page Number Paragraph/Figure Description




==

ATTENTION: CUSTOMER SERVICE DEPARTMENT

IMPORTANT NOTES:

1) Use this form for all non-warranty
orders only. Warranty orders must
be telephoned in (1-800-643-6275).

2) FAX number to send order to:
877-249-1793

3) All emergency orders must be
received @ Midmark by 1:00 pm EST.

4) All underlined headings should be
filled in prior to submittal.

SERVICE PARTS FAX ORDERING FORM

(Do not tear out this page. Photo copy this page for use only.)

Go To Table Of Contents

DATE: /

am
/ TIME: pm

METHOD OF SHIPMENT:

==

MIDMARIK®

ADDITIONAL COMMENTS:

PRIORITY: NON-EMERGENCY ORDER {to ship

within 72 hours if part(s) are in stock.}

DEALER P.O. #:

EMERGENCY ORDER {to ship within

24 hours if part(s) are in stock.} ACCOUNT #:

[see note 3]
MODEL #: SERIAL #: SALES ORDER #

if applicable)
NAME: SHIP TO:
ADDRESS:
CITY: STATE: ZIP:
CONTACT:
PHONE:
FAX #:
LINE # PART NUMBER QTy. DESCRIPTION COLOR
(if applicable)

CREDIT CARD INFORMATION
CARD TYPE CARD # EXP. DATE / /
NAME ON CARD SIGNATURE




	Back: 
	Button1: 
	Button5: 
	Text5: Click on the Go To Page button and enter the desired page number.

(Note: Letters are case sensitve ex. A-2, not a-2)
	Style B: 
	Button2: 


